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What do the income effect, the substrrutmn effect and diminishing ma:gmal utility have in

common?
A) They all help explain the upsloping supply curve.

(B} They all help explain the downsloping demand curve.

) They are all' empirically measurable(linki (i)

D) All are required to explain the utility-maximizing position of a consumer.
LT/&”:@%

9. Price elasticity of supply is: f@ B -
j greater in the long run than in the short rumn.
greater in the short run than in the long run.

C) independent (e Jiiwof time.
D) positive in the short run but negative in the Jong run.

Use the following to answer question 10:

Answer the next question(s) on the basis of the following information:

Numberof  Total =~ Marginal /,J ;"u":lf_’/";;(
workers product product
0 0\ - '; .
1 8 =
2T !‘,’.>-:"'€ H}'i'_ ,‘-—-"'-j—jj‘é — | me— e - ]
""‘j“"" 25 T Lo y;-: e o et i‘:-_‘:_:._‘ .
;1 30 : . : C{\% /;% -
6 34 ‘

10. Refer to the above data. When two workers are employed:
A) total product cannot be determined (22a3) from the information given.
B) average product is 10.
() total product is 20.
total product is 18. {

Use the following to answer question 11:
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Part I: L e 50%

S
1. If a firm increases all of its inputs By 10 percent and its output increases by 15  percent,

then:
A) the firm's Jong-run ATC curve will be rising. %TC = 4 C <
@ the law of diminishing returns is taking hold. R \;}f‘
it is encountering econornies of scale.: B S LY T
it is encountering (+=! sydiseconomies of scale X | 7 "

"A fall in the price of a good increases the real income or purchasing power of consumers
so that they are able to buy more of the product.” This statement best describes:

A) the substitution effect.. '

B) acomplementary good.

C) an inferior good. .

/D) the income effect. /

!\J

3. Normal profit is:
A) determined by subtracting explicit costs from total revenue.
@W the return to the entrepreneur when economic profits are zero. o
“€) the average profitability of an industry over the preceding 10 years.
D) deienmnec}_ia_y subtracting implicit costs from total revenue.
4. A firm can sell more or less output at a constant price. Demand is thus:
A) relatively inelastic 77

B) relatively elastic 5oL R
P perfectly elastic e Co l';www-"""‘i?
D) perfectly inelastic \ -

5. To the economist total cost includes:
A) implicit, but not explicit, costs.
B) explicit, but not implicit, costs.
@ explicit and implicit costs, including a normal profit.~”"
D) neither implicit nor explicit costs.

B

6. Marginal utility: 5?// FEE
A) is equal to total unhty divided by the number of units consumed.

B} is equal to total utility if the demand curve is linear.
diminishes as more of a product is consumed.
increases as more of a product is consumed.

7. If MU, /P, =100/$35 = MUy/P, = 300/? = MU /P, = 400/?, the prices of products b and c

in consumer equilibrium:
A) cannot be determined from the information given.
* B) are $100 and $200 respectively.
C) are $105 and $175 respectively.
@ are $105 and $140 respectively. .
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11. Refer to the above diagram for a purely compeuuve producer If product price is P3
A) new firms will enter this industry. '
B) the firm will earn an economic proﬁt.
C) _the firm will maximize profit at point 4.
economic profits will be zero.

12. Which of the following industries most closely approx1mates pure compct1t10n‘7
A} clothing
B) steel
) Automobiles

13. Firms seek to maximize:
A) per unit profit.
B) market share.
C) total revenue.

f’ tota] profit. u/

Use the following to answer question 14:

=TS

Price

Quantity

14. Refer to the above diagram. A government-set maxunum permissible (¢ s~} interest rate

is\best illustrated by:
@ price A.
price B.
C) quantity E.
D) price C.

15. A purely competitive seller is:
A) both a "price maker" and a "price taker."
B) neither a "price maker" nor a "price taker."
@ a "price taker." .
) a "price maker."
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16. The diamond-water paradox occurs because:
A) the price of a product is related to its total utility, not its marginal utility.
B) water is, in fact, very scarce in certain regions of the world.
C) diamonds are more useful than water.
the price of a product is related 1o its marginal utility, not its total utility.

17. Lf the money income of a consumer decreases and, as a result, his or her demand for
product X increases, product X is:
A} a complementary good.
an inferior good. .~
a normal good.
D) asubstitute good.

18. At each point on an indifference curve(e! sudt Ldaia):
A) marginal utility is the same.
B) the prices of the two products are the same.
@ total utility is the same. {~
) money income is the same.

19. Moving upward on a downward-sloping straight-line demand curve, we find that price

ticity;-- . L o ,

Y increases continuously.

may either increase or decrease.
C) decreases continuously.

D) is constant.

‘20. Fixed cost is:
A) the cost of producing one more unit of capital, say, machinery.

B) usually zero in the short run
average cost multiplied by the firm's output.

} any cost which does not change when the firm changes its output. uf"/
21 If the price of A is §12 12 and the price 0of B is $3 the budget line tells us that a consumer in

effect can trade: o W
A) 12 units of A for 3 of B. (U« Ve & {fz.’\l\
1 unit of A for 4 of B. T 3 ' 74
Y 1 unit of B for 4 of A. Vo o - —
D) 1 unit of A for 3 of B. MR ¢ o . ’;j
/.C ¢ % Qa7 /7{“/ &
o = N
=Y
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Use the following to answer question 22:

$10
; 2 F
e o i

(SN

v Demand

Quantity

22. Refer to the above diagram. If price falls from $10 to $2, total revenue: Q Q
A) rises from C+Dto B+ A and demand is elastic. -
falls from A + B to B + C and demand is inelastic®
} nises from A + B to A+ B +D + C and demand is elastic.
D) falls from A + D to B + C and demand is inelastic. }

23. The long run is characterized by(— i), |
the ability of the firmn to change iis plant size.
at least one fixed input. '
C) the relevance(3®= 13 Yof the law of diminishing returns.
D) insufficient (44 s22) time for firms to enter or leave the mdustry

24. -The formula for cross elasticity of demand is percentage change in:
A) quantity demanded of X/percentage change in income.X,
B) price of X/percentage change in quantity demanded of Y. *
quantity demanded of X/percentage change in price of X,
D) quantity demanded of X/percentage change in price.of Y.
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Use the following to answer question 25:

r T ’
h ’ § Figure A
E]
[=%
5
o
0
fnput
(3} m -
£
o PNE
4 BVe
]
Y
0
O
Figure B
0 .
_ Output

25 Refer to the above short -run productzon and cost. data The curves. of Flgures A and B
suggest that:

A) AVC cuts MC at the latter's maximum pomt
JAVC reaches 2 minimum where AP is at its maximum. t}/

AFC declines so long as output increases.
D) average product and average variable cost reach thelr maximum points at the same

output.
@el\@/z’ @% H"Q C\EDOUQ &\/\cwgf wa ‘pma&t(’ﬁ‘uw
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Essay 50% Answer Question 2 and any other 2 questions

Question One:-
(Given the demand schedule inthe table below

[ Product Price '{f Quantity Demanded @@
5 2
<4 4
i [ 3 6
2 b
1 10

| L_,_ -m ' > Q the © "7-'9}%’1 ECCqus

T — -7 {” 6-~ S 10 [“ ilﬂf, :?&w;? ‘7_;"“"»’” 0["‘

- B s_.-:: e

b) Calculate price elasncxty of demand in price falls from 4- 3 };\ e {\‘ cu¥ Ve . fS

. Q-0
2; r:? o wg,z.ww—-i—“‘ 6 -_— ) “Zsﬂ

,Qé’ o ) -~ B
g — g T =
P B2 =
RERaS 3.5 R 50 4«”5’/’70&9
Vo ;
};j_,_';ﬂ- | ls i, ';f;'f_ m«a,_} »
T Co A edwdi
¢) Based on your answer in (b) the fall in pnce causes total expendzture on the good to

¥

WA Valoayel become demandzsj;’az, N T

‘rliyu/ (_/
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Question Two. -
A consumer who gets utility from consuming goods X and Y with Py = éf' and Py CZ and income =

18 | o
Units of X MUx | Unitsof Y| MUy
1 20 ] 16
2 16 . 2 14
3 12 3 12
4 8 4 10
5 6 5 8
6 4 6 6

What combinations would the consumer buy of each good (show

ecan Aacﬁ | froduct of X and iy 9"{7

\,«cchoa%’("’s v v gy e X Q:ff,:,

SUTTET a2 T X . & o an

@7‘3 bl (?}(ﬂ .is £ ﬁ{/’, Gl ¢ fon /g(‘ 4};9#;/ £o8S e v%a‘“' A ;:;J e s ,fgv
Qufx + G 53’ "-*-nrs.mf [xer  2xBl= 810 18- fﬂwﬁc‘??w W ¢ pos s

b) If Py falls to 2 find the dema.nd schedule forYand graph 1t 1 ' o f»w?*‘.sz

= M_QM haip X corb: notion

B _.-a_

'5&5 cm;/ —fﬁ pechoose B ;,,“,{,,f@;

! ,rr?"“
Y and “x | 0% K o ooneamy ot
g BX F’a.m’x_z/,fi

(,3 (J‘X Jf
)J\f’ oy M‘ﬂJ"Nn{?J’i* Eai! : h/»’ e 55;’/“7(;’
/ ‘Q\ c) (Bonusto midterm 1) afc X and Y complements or substitutes. Why?
f ‘
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Question Three: -
Inputs of labor | Total Product | Marginai Product Average Product
0 0
1 45 a5 LA
2 102 57 °G % 5
3 153 (8! e
4 195 (17 WNYE )
5 222 7% ‘c%‘i /
6 240 1ol 277 /N
7 249 a. 7/
8 246 -2' -, 2
- e

?/ a) Complete the table above
b) Marginal product begins to diminish with which worker, briefly explain.

¢
é‘)b,) WP

-
R e "‘i 3
P /;}
e )
S i
P

8 7
‘ a" "‘ ;t"} , ‘f\’_;‘.
i\}; : {2 /LL? LL") ra "_}: :} \i»&}{_)
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Part}' Write T tf the statement is true, F if it is false. (15 points)
' No. Question True | False }
1 An increase in the real income of a consumer will result from an increase in , ~™ F _'/
| - | the price of a product the consumer is buying. 4
2 A consumer’s demand curve for a product is downsloping because to}di utility
decreases as more of the product is consumed,
3 The theory of consumer behavior assumes that consusners act rationally to get T
the most from their money.
4 When consumers are maximizing total utility, the marginal utiiities of the last

unit of every product they buy are identical { s dusie}
5 The marginal utility of product X is 15 and its price is $5, while the marginal T

utility of product Y is 10 and its price is $2. The utility- maximizing rule D<
| suggests that there should be less consumption of product Y. /
6 In the short run the size (or capacity) of a firm’s plant is fixed. i
7 The resources employed by a firm are all variable in the long run and all fixed F‘ /
in the short run. _
8 When total product js increasing at a decreasing rate, marginal product is - i/
} positive and inc‘-zjeasin'g. . //
[5’ 9 The larger the output of a firm, the smaller the fixed cost of the firm. | ~& =
10 ' The law of diminishing returns explains why increases in variable costs —
| associated with eaeh 1-unit increase in output become greater and greater \ D{\
} ﬁ/ [ after a certain point. P
} v

11 | Marginal cost is the change in fixed cost divided by the change in output,
Ll?. Marginal cost is equal to average variable cost of the output at which average —_—
variable cost 15 at a minimum. ) E

| 13 | One explanation why the Jong-run average-total-cost curve of a firm rises

1 after some level of output has been reached is the law of diminisking returns.
14 | if a firm has constant returns 1o scale in the Jong run, the total cost of

o
? producing its product does not change when it expands or contracts (J&)its

P \\\

ouiput
15 | When average product is falling, marginal product is greater than average
ﬁ\ o product.
16 | The income and substizution effects wiil sedude the consumer to buy more of

2 A J‘ )1

normal good Z when the price of Z incredies
17 | The diamond-water paradox is explained by the fact that the total utility

, derived from water is low while the total utility derived from diamonds is

{ high,

18 | Economic or pure profit is an explicit cost, while normal profit is an implicit

NN

—]
T T SN T WU

r—-h_A— —

{ cost.
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Part II: Circle the best Answer: -

5Y e

1) Which would best describe the short run for a ﬁrmMed by economists?

a.

c.
d.

The plant for a finm is variable.

The plant capacity for a firm is fixed. ...~

There are diseconomies of scale,
There are'economies of scale.

Use the following table to answer Questions 2 and 3. Assume that the only variable
resource used to produce output is labor. '

Amount of labor. -

Amount of output

i

=
2

|

g

12

15

17

Chlh g bt pa

18

2) The marginal product of the fourth unit of labor is:

&

S

2 units of output.

4 units of output.
15 units of output.

3} When the firm hires(«s 55 four units of labor the average product of labor 1s:

g.

d.

4} Because the marginal product of a resource at first increases and then decreases as

5 units of output.
3.75 units of output.
4.25 units of output.
15 units of output.

the output of the firm increases:
Average fixed cost declines as the output of the firm increases.

Average variable cost at first increases and then decreases.

a.

C.

@/ Total cost at first increases by decreasing amounts and then increases by

targinal cost and average variable cost are equal at ¢

[7/\(\

Variable cost at first increases by increasing amounts and then increases by

decreasing amounts.

increasing amounts,

A,

Marginal cost is a minimum.
Marginal product 1s a maximum.
Average product 1s a maximum.
Average variable cost 18 a maximum.

ey

i
7

output ai which:
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6) Average variable cost may be either increasing or decreasing when:
a. Marginal cost is decreasing.
Marginal product is increasing.

c. Average fixed cost is decreasing,
d. Average total cost is increasi
Question 7 and 8 are base on the following figure:

Fignre

7} inthe figure, curves 1,3; and 4, respectively, represent:
Average variable cost, marginal cost, and average total cost.
b. Averdge total cost, average variable cost, and marginal.
o © Average fixed cost, average total cost, and marginal cost.
d. Marginal cost, average total cost, and average variable cost.

8} as output increases bevond the level represented by Q:
a. marginal product is rising.

& Marginal product is falling.
c. Total fixed-costs are rising.
d. Total costs are falling.

o

9) Atan output of 10,000 units per year, a firm’s total variable costs are §50,000 and
its average fixed costs are $2. The total costs per year for the finm are:

a. $50,000 = A
bl $60,0600 w-ﬁ“#‘(’ gemen sTes
¢/ $70,000 '
d. $80,000
10)If you know that total fixed cost is $§100, total variable cost is $300, and total
product is 4 units, then: P
/, a. Marginal costis §50 %O 9
b. Average fixed cost is $45 “
c. Average total costis §125 ) /\\i C ) C}- )
Average variable cost 1s $75 ¢ C’ s Fo0°
. ® Co P
.- 42!
00
y .0
N RS ’ Ol
> &
B i/



11) Which factor contributed (mls) to economies of scale?
a. Less efficient use of capital goods.
b. Less division of labor and specialization
fc) Greater specialization in management of a firm
d. Greater difficulty controlling the operations of a firm.

12) The reason the substitution effect works to encourage (s»-23)a consumer to buy more
of a product when its price decreases is:
¢ The real income of the consumer has been increased.
b. The real income of the copsumer has been decreased.
€ The product is now relatively less expensive thenit was. .
d. Other products.are now relatively iess expensive than they were.

13) After eating eight chocolate chip cookies, you are offered a ninth cockie. You turn
down {_=,) the cockie. Your refusal indicates that the:
as Marginal utility for chocolate chip cookies is negative.
b. Total utility for chocolate chip cookies is negative.
(0 Marginal utility is positive for the eighth and negative for the ninth cookie.
d. Total utility was zero because you ate one cookie and refused the other.
85 2
14} Suppose that the prices of A and B are $3 and $2, respectively, that the consumer is
spending her entire income and buying 4 units of A and 6 units of B, and that the
marginal utility of both the fourth of A and the sixth unit of B is 6. It can be
concluded that the consumer should buy:

a. MoreofbothAandB a0 \\5
b, More of A and less of B e(pﬂo L
v
> Less of A and more of B o
d. Lessofboth A and B @ (ﬁﬂ “S‘l
15) The price of water is substantially less then the price of diamonds because: o A0

a. The marginal utility of & diamond is significantly less than thé marginal 0)1\@
,utility of a gallon of water. : 3
The marginal utility of & diamond is significantly greater than the marginal !

utility of a gallon of water, T |
/ ¢. The total utlity of diamonds is greater than the fotal viility of water. 0Q9 m it o tad
d. Diamonds have a low marginal utility.

ok
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Part HI: Answer the following questions. .
Cuestion One:- (20 poirits) @'
The following table represents the utility derived by a consumer from consuming two 7
goods X and Y. g
O, | Tu, Mu, MuyP, 1Q, | Tu,| Ma, | MuspP, | -
1 45 2@ % 1 o 1[40 [ 4o & 2
2 75 Y. 39 2.0 2 (76 | a4 4 \/"\‘“’
3 03 ¥ 20 13.3 3 [108) 322 B s !
21110 = | e 14 (1361 28 = oy
5 122 = | (&~ 15 [160] 44 % —
6 132 \O g L7 6 | 180 20 5o
7 141 Q C b6~ |7 1196 S . 1
8 148.5 .5 /(“) g 208 A 3
Suppose that the price of X (P} is $1.5, ihe pnce of Y (Py} $4 and conWs income
$36. q X 4 i « :?_ﬁ__f_ z;"j
2) Fill in the blanks in the above table. 5 « /7" o S Xt
b) Find all combinations that satisfy the utility — Ma‘{nmzma condition. ey
"t Which is the equilibrium (utility —- Maximizing) combination for this consumer?
. ,Lr‘k What conditions are satisfied in C for utility Maximization -

Quesiior Two:-

(10 points)

The following table shows the total production of a firm as the quantity of Jabor increased

!

Quantity of Total output |  Marginal Product Average Product

Labor emploved o

} 5 7 z ]

2 1] 6 55 i

3 18 i 1 & |

4 24 } £ 6

5 2 ! )s 5.5 |

6 27 3 ' 4 g5 ]

7 36 2 g |
|8 38 | 2 4.7 i

R

Calculate the Marginal procducts and Average products of the various quanfities of labor
and enter them in the table.

\.:xLTt‘V‘!V
W_/_’.__
/\é\iohc"
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4 ués_z‘ion_ Three:- _ {10 points)
Suppose a firi haswenlythree possible plant-size options, represented by the ATC curves

shown in the accompanying figure.

Figureg ——-———"""r—. e

ATC ¥

80 150 240 @

What plant size will the firm choose in produéﬁé
a) 50 v ATC (Twne Prirst ome) - /
b) 130 : ATC 2 ( The second ove) /
¢y 160 ‘AT The 5€Lﬁ“4 cae ).
250 units of output? Draw the firm’s long-run average cost curve on the diagram

PR and describe this curve,

d} 22;_0 LA "%5 ( A -TC_-S )ﬁj\?\ﬁ t\'\"\‘(‘-(;l ong. .

e

v/
Good Luck

\ e GVRCTCTESE e LT"“J‘V‘““""‘N
b

CNVENY Cat pw B 4*‘3% T
t\f\d.,’rj ?L' L Dw ;1‘..f\(."f, ! LD"’\.ﬁ Vi A'TC Cuv e T'E?&—E-_}t_n}—si

(""'\\'\b\w\u;mj

lL\& (Ou(ifg(_‘ ;'\C\ﬂ’\c:,-;,d" OE C‘D‘:[‘; fL‘Q.t ~(5. hdda{ﬁgf . i‘O Pmo("uc@_ hf"':i uff?cv\{—-c?_;«f?

C"}Licl\"\t;t*\j L o {" L\e_, “j\'\(}\"t VAYY /f\ ‘TC CUvveS :
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1
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Economics 131
First Semester 2005/2006

PART I: Multiple-choice questions (54 poinis).
Circle the best answer for each of the foliowing guestions:

1. In microeconomics theory, it is assumed that the goal of a business ﬁrm isto
a. maximize utility. ‘
b. maximize output. .
Ty tnaximize profits, e

maximize sales,
e. minimize costs.

2. A firm will break-even if P- AR = ATC
rme is equal to total revenue. 73 P 0
verage total cost equals price. ATL 7 Y A
c. average varizble costs equals price.

d. total variable cost equals total revenue.
e.  both {c) and (d).

3. When total utility is maximum, we know that T U max 5 My =0
a. average utility is also maximum, 5
b. marginal wtility is also maxitnum.
c. average utility is zero,
@/};narginai utility is zero
marginal utility equals average utility.

4. As the marginal product of a variable input increases, the marginal cost MP 7 Mc
a. also increases. '

b. remains constant.
9/ decreases. Wl
equals average product. G /;

e. none of the above.

5, Ifa purely competitive firm in the short rum can sell its output at $2 50 per unit, and it has an average variable cost

of $1.75 per unit and a marginal cost of $1.50 per unit, it should:-- ~ o LAl
a. shut down. x D= $ 9,¢ - : AV
b.  increase its price. ! 2= T
c. decrease its price. B AA vC = 2 ' S . f)“i <
d q’ decrease its output. Sl 1,C o g,'
(&7} increase its output. | M (G
} P, av |
=A / 51 A
T S ‘—LT N g ;' . \ -
= s — ‘ T S -
1
Po Mc
= MC

5y s ML pladay b

=N



The following two questions are based on the following
budget line and indifference curve for 2 consumer who 30
spends all his income on two goods: X and Y. (/P> a)}

6. The equilibrium combination for this consumer is
(& 4 units of X and 18 units of Y.
4 units of X and 30 units of Y. 18
10 units of X and 18 units of Y.
d. 10 units of X and 30 units of Y.
e. either 10 units of X ar 30 units of Y.

o

7. Ifthe price of Y is $3 per unit, then the price of X is
a. $3. -

b $l. Py=3 L. Gy X
@ $9. Coom 27 Py 4 10
. 86. ’I:_,: 30 —s 1= Go Pu= 2
e. None of the above. 3 == , Px
M 1%(,):-_?__{2, — p&'@
8. The law of diminishing marginal returns says that - Py ]

a.  Ifall inputs are increased, output will decrease

b. If all inputs are increased, marginal product will decrease

c... Ifall inpvut are increaged, both output and marginal product will decrease.

d,‘} f one input is increased while other inputs are fixed, marginal product will decrease. ..~

£¢ If one input is increased while other inputs are fixed, output will decrease

9. A pure competitive firm faces (4+!5) a demand curve that is

a.  vertical.
G foraonial -~ o)

¢. downward-sloping. _ -
d. upward-sloping. Y
"e.  equal to the total costs of production for each level of output,
10, -in the long run, i ﬁi_)\/
_-all inputs are variable oA
/b./ all inputs are fixed (/i % )

o

only the scale of plant (plant capacity) is fixed
d. average variable cost is less than average total cost.
. firms cannot enter or exit the market.
g
11. Iftwo points are on the same indifference curve, -
. theyare also on the same budget line. x
)7 Afley represent combinations which give the consumer the same level of satisfaction.
7 they represent combinations which cost the consumer the same amount of money.
d. they represent combinations which maximize the consumer's utility y
e. they represent combinations where the marginal utility per dollar is equal. T 0

i2. Dialrjl\ggr;)s\ (2 are more expensive (A21) than water because
a. more diamonds are demanded. .
b. households are irrational. : \ J\J
¢. diamonds are more useful.
4, diamonds give higher total utility.

@ diamonds give higher marginal utility. . @)
_ ' O
NI
[
N




13. Suppose than a consumer spends her income on books and movies. The marginal utility of books is 50, and the
marginal utility. of movies is 100. The price of books is $10 and the price of movies is 5. In order to maximize total

utxhty, she should: Mu ) =50 P t)=t0

C //consume more movies and less books. MU = oo Pim)=S

consume more books and less movies. Wy )
. . - _f_{kﬁ,go,§tbou
c. consume more books and more movies as long as their marginal utilities are positive. = =7
d. consume less books and less movies until their marginal utilities are equal. : 00 ~ (28 v he
e. Keep consuming the same quantities of books and movies since this is the equilibrium combination.
PAL
14. A competitive firm's supply curve in the shott run is: \ c"f‘ﬂfjc

a. the entire (JS «sses) marginal cost curve, [ >
b. the entire average variable cost curve.

c. the entire average total cost curve.,
d, thé average variable cost curve above the marginal cost curve. x~
o7 Vihe margmal ¢ost curve above the average variable cost curvesd

15, Economics of scale implies {(=5) that:

a. shortrun total cost increase as output increase. R
. short run average cost decrease as output increase. &5 ﬁ_,/

t.. long run marginal cost decreases as output increases. o

e"/long run average cost decreases as output increases,
none of the above.

16. Suppose the average pfoduct of labor is 5 when thefirm hires 3 workers. If the average product falls from 5 10 4.5
when the firm hires the fourth worker, then the marginal product of this fourth worker is;

. L,, T 1
a 270 AP & Loz AP | MP gsf‘
. ‘ — -bTP
; oL
-EP;,‘ AP= TP —
T TP=(APXL ()
| =0 %(u\)) 5 TP=( =T
17. Generally speakmg, as more of a good is consumed by an individual consumer, P 0 15 -
margmal utility would increase and total utility would decrease. » /414 $,Tud Mp= -

@ argmal utility would decrease and total utility would increase.

marginal utility would increase but total utility wouid remain unchanged.
d both marginal wtility and total utility would decrease, +
e, both marginal utility and total utility would increase. v

18. When marginal producf is higher than average product, then
a. marginal product must be negative,
b. total product is decreasing.
¢. average product is at its maximum. MP >AP AP 7
4. average product is decreasing.
€0/ avérage product is increasing.

' o & .
/m(‘ 2728 K< %a - \§ \
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PART IT: Essay Questions (46 Points)
Answer the following questions in the space provided. SHOW YOUR WORK WHEN NECESSARY!

1 (10 points)

(10)

Consider the following table which represents the utility that a consumer derives from consuming various guantities of
falafe] sandwiches (Ui <L s, Assume that the price of falafel sandwich is $5.

U = A—W

2§ = r_t_/L:__L
D

o¢ il Tu
o = Tu

A
So = T Mo
Tl- 20440 =60
/VIL/j =

2. 6010

P=$S

MU -

Q v MU dolr <=4 = 1€

= P ¢
1 15 1SR - e
2 Yo 25 | 5/ M
3 |60 200 7 4 P
4 70 __Jo/ 2 7 %_
@ /?O 0 o 4 Fiu - 20 '
6 65 -5/ —\

z) Fill in the blanks in the above table.
b) Suppose now that the consumer can get as much falafel sandwiches as he wants free (e ;L—a@];i—! K5,

Mu - 65 -Fo=-F¥

/UM>D

how many sandwiches showld Iy Sume to myaximize total utility? Why? . /
%) “because @M > (Jrom ueds to §wa25ﬂ( O =2 '7\ (T nan =0}
bul ¢, Pe conguing G+ ok {ymonPasst ol sl ) = the Mu<lo Mﬂh& vt
. . = ) L—/—"(—_:‘u \b
S .o B
/ Y
//_\z (20 points) {Bpelem il
¢ ‘ P=MR =20
Consider the following short-run cost schedules for a purely comnpetitive firm. Suppose the market price is sz per unit,
Fe= 18 P a0
AT TC . = 4
’C‘P—— Quantity Total Cost ATC AVC MC profit
. - : - m{ Mc= D T T - A
o o §12 X X X C \_& e &
Ave=VE 12 O
[ £ A —_ - i ,
' 1 ¢ 7 Lz S 5 - 3 A T=@P- ATC)
Tle FC 4VC A — , ~i(R0-1)
_ 18 4 Ve 2 % 20 y 2 00 o
ks . io ’ = o Lo- w0)
Ve - 5 . ) ; e e
-\ 3 ay 36 . /(9\ D }’é pd ZU - o 20~ 12)
— 4 60 Pl v a4, 20 ./ Ts Uloo- )2
ve ME - ) Awh >
< a) Fill in the blanks in the above table AL
2 b) What is the equilibrium quantity for this firm? Why? 7 s N
) €9 —2 P = MC ' { oner prodechidn)

Luuj/_“ _-rgl:r:’fw.erf b Lt el pfmﬁmf’
prodace fy uttuod e y/ﬂ

et prodhes
© Bundf —3 T 22

3 ;/,.-vé: Mf»a’ ‘LJM/’ v

"JL s .

U
/,

)
-_;_g, [

Qes - G
e

Y t/'“fC 7P) g} gYe

74 ‘“;‘J wf
Yride e P>/J’c (2o7is) bwr g
U'L“(-;—TJM ool b0l ¢z 5/ of L2t~

i




C

3 (16 points) TC - CC 4+ VC = 600 -+ 1800 {2 uoo
[—————9 - _QDUoo _ T
Consider the following graph which . ATE ‘QS —z5 =89 ATC
represents the average variable cost and £920 omeprememgen RGN oo
average fixed cost curves: ”:§ [ A N A A A T A S
, 110
Answer the next questions based on this é

sraph: L 1 T A o
a) Suppose the firm is producing 30 units

of output, what is the average total cost
(ATC) at this level of output?

X EX>)

e

@-p0-s AvC = BO
g0 = V&, —2 Ve 1800

32

Q}:ja——_;‘) AY—C«: Lo
T 00— (23032

3 { EC= éooj

b) Suppose the firm is producing 30 units
of output, what is the total variable cost
(TVC) at this level of output?

Tvwe =77
W,z HE
Avee ML |

Hey

L

& ‘ s
. 3

(60)(32) = U N (L
{1900 z7C )

[ ' L= ME
c¢) Suppose that these cost curves are for pure-competitive firm, and the market price is $40, should the firm
produce or shut down at this market price? Why :
P=ME AL - | |

= 4o
pf,j o /*ou.% \ /\\/C Cuvuve ofaou J f\,,wvﬂ» v

Ave > P s SM%
oecaw s¢ P hve exeeds He

d) Ifthe firmjshuts down, HOW MUCH is the profit or loss in this case? Explain (Show y.our calculation).
‘{«DM, ;;';/m loss 49»4 y“&:z‘} (o8 = 600
’ [
B

o s

(e IF C = Boo = [ loss = &6
AV (= R0 e (_L}):;,fgr

E‘E—-';QQ —_— ‘:C:Gau
w

o Jiv Sheould !osan_Jw’:f (ort whin shud down. =600
s

g
e — 5
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S
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:I pr’ {b} {c) {d) {e

5 (2) (b) w 1 (d) (e) )
s Mo @ ®

7. (2) () (©) (@) ™

(8) (b) © 'r;id (e)

- (@) | ) o4 (d; (€)

noow e @ @ ol
w0 @ ©
1. (@ (b © e (e
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5. @ W (©) @ e

16. {a) (b {© (d) 5
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PART I Multiple-choice questions (54 points)

Answer the following multiple-choice questions on theattached answer sheet: 4 M L1 8B,y e ¢ A4 1de dleal e o

1. In economics, the short run refers to a time period +
a. of one year or less, Y
‘b, in which all inputs are vanable vz Vet W 7“.\ &

£¢) in which all inputs are fixed. ot Teesd ¥ :
‘é‘ in which there is at least one fixed input and at Ieast one variable input.
e. - in which output is fixed. %
ﬂ::;w'z. When marginal utility is zero,
' a. total utility will also be zero.
@ total utility will be maximum.
c. total utility will be minimum.

d. total utility will be equal to marginal utility.
e. none of the above is frue.

Muz e

3. Ifafirmis currently (W=} producmcr Zero oumu t, total cost ¢ equals e ‘
a. zero Lt o ' S
b, average variable costs. e e
¢. rmarginal costs.
d. - total variable cost. T Mibs B .
{&) total fixed cost ?
e M 2 fl/\
%’h“g;/ 4 As a consumer consumes Jess of a commodlty, hls e s
¢ marginal utility will rise. '
b. marginal utitity will fall
¢. total utility will rise
d. both total utility and marginal utility will fall
£, both total utility and marginal utility will rise
e I e A~
5. When marginal product is higher than average product, then = A gt
a. total product is decreasing, -
b. marginal product must be negative. — ‘ 4 f)
{7 average product is increasing. Ny
d. average product is decreasing. b R
e. average product is at its maximurr. e P
§. Which of the following curves cannot e U-shaped {i.e. go down first, then go up)
a. AVC curve. ' '
& AFC curve:~
¢. ATC curve,
d. MC curve.
g. -pone of the above, since all above curves must be U-shaped. J}\)i
f’-» )3 bgpz» 7. Dzamonds (._;J“U*) are ‘more expenswe{ A1) than water because: ? K
diamonds are more useful. ‘ Y,

b water is an infer mrgood.

c. households are not rational.

d. diamonds give higher total utility. -~
O dlamonds give hi"hEI‘ marﬂma] ut:l_i)l




i

e law of diminishing marginal returns means that, as you increase the variable input,

P E}/g/ total output will fall.
b.” marginal cost will fall. N
c. demand will fall. ' ‘ _ .
. ’ S LA
(@ marginal product will fall,~ Lo NS s _\P A
a. marginal revenuewill fall. : " i - ;pa, !
. i '

o
}\9 The consumer maximizes his utility:

: when his budget line is horizontal ().
b. When his indifference curves are apward sloping.
{c) where the indifference curve is tangent (0<) to his budget-line. -~
d
e

where his indifference curves intersects (+=U) his budget line.
when his marginal utility equals the price of the food.
f\ . The production function of a firm shows the
¥ 4 amountof goods produced per year,
b. type of resources required to produce goods.

¢. reiationship between labor and capital. e
d. relationship between explicit costs and implicit.costs. } /\(\ ‘
/@ relationship between inputs and output, M - AT . el \ P
R
11. As the marginal product of a variable factor increases, the marginal cost — ’
a. also increases AT MO DA .
B> decreases R A=
¢. remains constant
d. equals the marginal product
e. none of the above is true :

i .
12. Which of the following statements is NOT cf)rrect about indifference curves?
3. Indifference curves do no intersect (' 3235}, ‘ '
b. Indifference curves are convex (%) to the origin.
¢. Higher indifference curves represent (J5<5) higher level of satisfaction
@ Indifference curves assutne that wtility can be measur gd:(té--Lﬁ CEa) i utils.
e. Indifference curves are downward-sloping. '
K:IS Chanves in. consumpnon }}_‘@t results fmm changes in purchasm power (R84 380 due o Véhangf:_s in price is called
(&) ncoe effect ™ : R v
b. Substitution effect,—
¢.  Consumption effect
d. Law of demand
e, Law of supply o
”‘1..%.3\ 2 R
14, If a firm has total revenue Qf $100 0@ implicit costs of $20,000, and exphcn costs of $90,000, then -
a. economic profit is $10,000, Ve aos Lo o0

[N iy
b. normal profit is $10,000. e s
(&> economic loss is $10,000: fa, Tr e .
s D@ ,en? e e Toe D 7T i‘:’,. @B o oo n s

d. accounting costis $20,000.
¢. none of the above
s

15.1n the long run, if average cost mcrease‘; as output mcreases thxs u’xdicates (M _x) that there arz

a. economies of scale

<b) diseconomies of scale

¢. diminishing marginal retumns

d. diminishing marginal returns

e. diminishing marginal utility

LV
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1 “If the total cost of producing 6 units is $48 and the marginal cost of producing the seventh unit is $15, then
a. the average variable cost of 7 units is $15

b. the total variable cost is 13 AR Lagrs 7:‘: M Y, Y
c. the average fixed cost of 7 units is $9 37 6 4% e T nls
d. thetotal fixed cost is $48 % @ 7 LB s j@

@ the average total cost of 7 units is $9 & et

ﬁffA curve which represents all combinations that give the consumer same level of satisfaction is called ,
a. The demand curve
b. The satisfaction curve
c. The budget line
@ The indifference curve
e, The utility curve

v 8. in the short run, as the level of output increases, then
the total variable cost increases,
the average fixed cost increases. T p'ﬂ\ =
the total fixed cost decreases. CQ

b.
c. s
d. the total fixed cost increases, \%@
2,

the total variable cost decreases. 7 AT
TRy
e - & oTe e
e T M r
6 U
* o X
(\.{ v 7 -
> PO
i@ >
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PART 1I: Essay Questions (46 Points)

Answer the following questions in the space provided. SHOW_ YOUR WORK WHEN NECESSARY!

1 (20 points)

Suppose that Salwa gets utility from consurning pizza and juice according to the following table,

MU per MU per |
U(LO ‘ T_ Number MU of doflar Cupsof | MU of doilar
({F of Pizzas Pizza, | spenton Juice - | Juice | spenton.
- o= < . | =PE -
Wiz ~ &7 | Pizza_ d ;| Juices”
ll' 30 1 30 1 ANCYRL &
! T T s ," = pa—,
H) So 2 20 s 21 2 (3)
3 /é? 3 18 3 - o A
6u ] }F*’ Q) 3 21 7 -‘—’},.a
;o %G 4 16 4 18 @

joé 7 2

8 -6 -7

~2
o,
3
NAR (R G -
O8OR 8o
\\
Lh
o
Q
|

[ok 8 0

Suppose that the price of pizza @nd the price of juice -sr@

—

N,
P
57 ). a Compute and fill in the above table the marginal utllity per dollar spent on both pizza and juice for each level of
consumption.
’/\
g N b, Seppose Salwa consumes_3 units oiszza and 7(d1ps of Juice, how much is the lotal utility that Salwa geis from
consuming these quantities? Show your wor /iz( W = @

Tored Lt of Ay

-

@Vy’ BURERNIN LAY L

qfr?‘) ._—;fw{ wfi {t ' ”‘L'E(P

“Total o
j= \fr w/ LR AT

{129

¢. Suppose Salwa has an income of $22 per week. How much pizza and juice will she-consum=? Show your work
Mag s yfu = 1B / £ 32 Cf
73
5;<2+44J _’L /5\5(2)%/(3) 22 tgg\,y\rg Vb
- 2w —
. - ririee
WA R PP S T Dt > wﬂ;j)(\ -
X PN LA - g \5\\ N

d\ d. Suppose that Salwa’s income has increased to $27 per week, while the prices of pizza and juice remain unchanged.
p J

Pz Fwecn ——
-
How much pizza and juice will she consume at this new income? Show your wsrk.

\ (X +5y =1 ié/(g’#”%('a) 27
T D

e

! F\ . . —~ T N s
She ) L m S G LNiFS W»‘zﬁ v s c;n{-’:ﬁ ”"-"dL J
L

wh




2 {12 points)

AT C
// - )Consider the fellowing graph which represents average and

/ 7 marginal costs of a business firm. Use this graph to answer __% 120 p-rmmvrrem e
! <._/ the following questions: £ 110 |
(SHOW YOUR WORK) E 1
© 1001 T,
a. What is the total variable cost of produ’éing 300 tons of 90:
output? _ i
/(a{; 'gosa‘t:w& 80]
AANC
/ 70 -
- 1
e —-\/AVC (K) 80 -
L VI S
N .
e =
. . @ S AN
b. What is the iotal cost of producing 200 tons of cutput? j - .
fi\_‘“‘—‘(‘“ f-,:;‘fc — T(- ’ 204 . -:.-:.-L .;-:.
i T r;.& =2 c \/ e (&) 1 e
| - Hon 0 4 ARt
YOz Lo (een) ol ) BENERE
‘T"C - g C?C) ‘k 0 50 100 15C @@ 250 350 400 450 500
¢. What is tota] fixed cost for this fi :m'? | e S Quantity (tons)
Jj _as o .
T ‘ =g Y}ﬁﬂ?ﬁﬁras ' ATe cAvAAL
LT e e il
f* Fe - ATC — AN ba -3 D Afcz FC
u’é’;—zw“ﬂwj - {A? ol o< A c = — A ~—~
- \J - Wy = -
rs\)'t = 'QJ)‘.I (8 A‘ (((-_Q‘) f i 2 o (3 ’) l @ e ‘%}

P 222) i mon 21 - TFT
{13 pﬂTﬁfS?“"‘—— — o ES

—

‘[ q”" Pgin the blanks in the following table:

Units of TotallPraduct Average Product | Marginal Product AR 0,'7 &“( o
Variable Input (Th) (AP) (MP) SN e
T x ) ‘ W DAL

3 60 o/ 2w e e v
: 2 | 18 7 127 AP-TP
’ %0 /_ 6 7 s . 7 » AL
6 (I 14 ,41_ i

') Mg .

- e AT g

MO = /_\,)C// fi‘ig: o -;gz?m

’ A O ™ 5 4

o FaN <y | ;;;-_.(.J_:D

N w2 d 7L s 6
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Quantity of M

Csantity of M

The shift of the budget line from cd to ab ir the above figiire i sonigistent thh
A) decreases in the prices of both M and V.

B) an increase in the price of M and a decrease in the prlce of N.

C) adecrease in money incone.

D} an increase in money income,

2. The budget line shows:
A} zll possible combinations of two goods that yield the same leve! of utility to the consumer.

B) the amount of product A that a consumer is willing to give up to obtain one more unit of

«~ product B.
(C" all possible combinations of two goods that can be purchased, given money income and the

-prices of the goods.
D) all equilibrinm points on an indifference map.

Use the following to answer question 3:

! l‘\‘,!rf ¢
r L i\“”‘*‘

L
5

e 7

'

21 31 4105 0, | v
| N

2 (7/ Re;er to the above diagram. The total utﬂny yielded by 4 units of A is:
/o ¥ A) 15,
B) 1&

=t

Marginal utility
i
Py =k D= N LW U1 D
LAY
A\
\2)
@

g

,.
Gi

Page 1



77 The law of diminishing marginal utility states that:
A) total ufility is maximized when consumers obtain the same amount of utility per unit of each

~product consumed.
B) beyond some point additional units of a product will yield less and le;ss extra satisfaction to a

consumer.
C) it will take larger and larger amounts of resources beyond some pomt to produce successive

units of a product.
D) price must be lowered to induce firms to supply more of a product.

Use the following to answer question 5:

Answer the next guestion on the basis of the following cost data:

Average  Average ‘
fixed variable ;’WKC.TC AC s E hve TC W C
QOutput  cost cost e _ : .
! $50.00  $100.00 PG B e I5e e
D 2500 §0.00 waﬁ = he e ‘o
3 16.67 56.67 Gz.3¥ - PARY/ /A 2za2T 2S0.0i Uper
') 12.50 HﬁS_Q__O A j AR Ly 3o ”
5 oo eg00 iz L 3.6 34
%6? 33.7 - 7333 A g F 277 e -
3 7 14 SO..OQ r:—,;)? e g % . HY &1, i d{ & Gé ;«I‘;w a(ug
: Y 1.0
§ £.25 87.50 EERC g6 fon 250 Y

Refer to the above data. The marginal cost curve would intersect (¢b) the average vanablc cost
curve at about:
A) 5 units of output.
B} 7 units of output.
) 2 units of output.
» 4 units of output.
‘ 2}; m utp
/j To the economist total cost includes:
&z &) neither implicit nor explicit costs. -
BY; explicit and implicit costs, including a normal profit.
C) explicit, but not implicit, costs.
D) implicit, but not explicit, costs.




Use the following to answer question 7:

N/

Y
B N / / R,

8.

9.

& ¢ c—»j@'
&

QG (XK &
Quantity
Refer to the above diagram. The firm will realize (&%) an economic proﬁt if price is:
A) Pa. ?2 FARSS
B) #1. : L e
C) Pa. ' -
oy Fa.

Whlch of the following is nof correct? : .
) Marginal product becomes negative before average product becomes neganvé N

) Where total product is at a maximum, average product is also at a maxirmum. . 7
C) Where marginal product is zero, total product is at a maximnm. - _ RS
D) Where marginal product is greater than average product, average product is rising.” «  °  , 3&

REC L
Average fixed cost: - " [
(_)} declines continually as output mcreases e
e

B) graphs as a U-shaped curve. o
C) may be found for any output by adding average variable cost and average total cost.

D) equals ‘marginai cost when average total cost is at its minimum.

The margmal utility of the Jast unit of'A consumed is 12 and the marginal utility of the last unit of
B consumed is 8, What set of prices for A and B respectively would be consistent W1th consumer

equiiibrium? : . 1
A) 24 and $6. A stL
: AR ¥
B) $16 and £9 U 5
(C) $6 and $4 A ey Sy
D) $8 and §12 !
e s A
/ : ’ _"y \f\ ]‘{\“- %
M\\f“ 6
n
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11. Economies of scale are indicated by:
& A) therising segment of the average variable cost curve.
¢ B) the declining segment of the long-run average total cost curve.
g C) arising marginal cost curve. '
) D) the difference between total revenue and total cost.

12. A purely competitive firm should produce in the shert run if its total revenue is sufficient (=#'<) to

cover jts:

A) marginal costs.

B) total fixed costs.
@ total costs.

D) total variable costs.

Use the following to answer question 13:
Answer the next question on the basis of the following information:

" Number of  Total Marginal
workers product product

Iy .-
! 8 3

2 % o
3 25 .
4 30

3 3
& 34

13. Refer to the above data, When two workers are employed
A} total product canmot be detemuned from the information given.
(B} total product is 18.
() total product is 20.
D) average product is 19.

14. The basic difference between the short run and the long run is that:
A) economies of scale may be present in the short run, but not in the long run.
B)Y the law of diminishing returng applies in the long run, but not in the short run,
@ at teast one resource is fixed in the short run, while all resources are variable ini the 1 mnfr run
I3} all costs are fixed in the short run, but all costs are variable in the long run.

o) JA. If at the MC = MR output, AVC exceeds (s price:
o 9 / > A the firm should expand its plant.--
o v B) the finm should shut down in the shoﬁ run.
L () the firm should produce the MC = MR sutput and realize an econcrnic proﬁf
D) new firms will enter this industry.

16. On a per unit basis economic profit can be determined as the difference between:
A) average fixed cost and product price. : -

i B) product price and average total cost.

C) marginal revenue and product price.

@ marginal reverme and margma] cost

o Lo
< i S

i
1
f
|
!
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The marginal revenue curve of a purely competitive firm:

A) is downsloping because price must be reduced: (u-=9=-s) to sell more output.
B) lies below the firm's demand curve.

C) increases at an increasing rate as output expands.

D) is horizental at the market price.

Use the following to answer question 18:

Answer the next question on the basis of the following cost data:

E
=
-
=]
e~
193
=]
el
-

3

N sy

18,

15.

Total T ':C o

" D

o
Le

Refer 1o the above data. The average variable cost of producing 3 umts of oumut ig:

" g
A) $i4, WLty TR

B) $12. = 3
c,) $16.

\) $8.

Marginal cost is the: e
A) change in average total cost that results from producmv one more unit of cutput.

B) change in average variable cost that results from producing one more unit of output.

C) ‘rate of change in total fixed cost that results from producing one more unit of oltput.

j change in total cost that results from producing one more unit of output.

. A consumer's demand curve for a product is downsioping because:

21

A} the income and substitution effects precisely offset each other.
B) total utility falls below marginal utility as more of a product is consumed.
~3 " marginal utility diminishes as more of a product is consumed.

DY time becomes less valuable as more of a product is consumed.

An indifference curve:

A)}is downsloping and convex to the origin.

B) is downsloping and concave to the origin.

) may be either upsioping or downsloping, depending on whethm the two products are
complements or substitutes.

D) is upsloping and has a constant slope.



A} If an individual's marginal utility from a product diminishes rapidly,.her demand for this

Z which of the following statements is correct?
product is elastic with respect fo price.

B)ﬁThere is no relationship between how rapidly marginal utility declines and the price elasticity

L/ of demand.
C) ‘1If an individual's marginal utility from a product diminishes rapidly, her demard for this

product is inelastic with respect to price. ,

DYy If margm/a}} utility is dimimshing, total Utiﬁ}t}’ must also be:diminishing. %~
;_f:’. !
om 23 L

Use the following to answer question 23:

Answer the next guestion on the basis of the accompanying table which shows average total costs (ATC)

for a manufacturing firm whose total-fixed costs are §10:
Dutput  ATC -~-‘3'L ;Q / M

1 $40 , 3, e

3 9 ) u.
w7 : sff"*

4 ..ﬂw Zi»"é et
I a 66

SOm e 98T

23. Referto the above data. The margmal cost of the fourth umt of ouiput is:
A) -°37 o \ﬂ!—‘ f L >ﬁ§L . .

L@ ; FZEs
D)‘ﬁ/’)

/21‘4. A purely competitive firm's short-run supply curve is:

o - A& the upward sloping portion(s k=) of its average variable cost curve,
BY its marginal cost curve above average variable cost.
"C) its average total cost curve.
D) the upward slcping poriion of its marginal cost curve.

A) the firm's average revenue curve is downsloping.

B) the markst demand curve is downsloping.
A the firm's marginal revenue and total revenue curves will coincide (&tke).

C]__D)')’ach additional unit of output adds exactly its price to total revenue.

;’;‘S. The MR = MC rule can be restated for a purely competitive seller as P = MC because: -
w

A) it will realize a loss equal to its total costs.

B) it will realize a loss equal to its totai variable costs,
C) its loss wili be zero.

D) it will realize a loss equal to its total fixed costs.

/26. I a purely competitive firm shuts down in the short run:
Lo

27. The law of diminishing returns indicates (43) that:
A) beyond some point the extra utility derived from additional units of a product will yield

(A==2) the consumer smaller and smaller extra amounts of satisfaction.
B) the demand for goods produced by purely competitive industries is downsloping.
C} because of economies and diseconomies of scale a competitive firm's long-run average total

. cost curve will be U-shaped.
( as extra units of a variable resource are added to a fixed resource, marginal product will

decline {=4) beyond some point.




Part Two:

Q.1. Answer the next queétidn on the basis of the following two schedules which show the
amounts of additional satisfaction (marginal utility) which a consumer would get from
successive quantities of products J and K. -

| Units Units ] c % 7 Mot s
TOfJ MU [OfK  [MU; | #Wgyp VYA o e
I 56 I 32 (22 __(;%_, L
] = Ca
2 48 2 28 -2 = <
3 32 |3 24 g A vy
4 24 4 20 | “"4'13 . “"5;._ £
5 120 5 12| e
6 16 - |6 10 V) b
7 10 7 [ & (> —
a- if the consumer has a money income of $52 and the prices of J and K are §8 and §4 7.5

respectively, how many units of J and K should be purchased to maximize utility? (12 pts)
Zxp G LEend e o S
o PR R

I ¥ PR
W, 4B B2 *’%J ;B r,,i,l,:_ b
T ) o ‘-R:} _S:
b- Assume that the price of J fzlls to $4, how many units of J and K should now be purchased. (5
pts)
7§ b K
¢~ Derive a demand schedule and draw a demand curve for product 1. (5 pts) :
o)
- 7o
N . . .
. ‘ v e
ﬁr i s
£




Q.2. Assume that a purely competitive firm has the schedule of average and marginal costs given
in the table below.

[ Output | AFC AVC  JATC MC

0
1 $600 $200 $800 $200
2 300 150 450 100
3 200 40 340 120
4 150 145 295 160
3 120 160 280 220
6 100 180 2800 | 280 |
7 1 86 205 | 261 360

10 60 320 | 380 720

a- In the table below, complete the supply schedule for the competitive firm and  state what
the economic profit will be at each price. (12 pts)

Price Quantity™ | Profits (+) |
W 7 . supp/_ligd Or loss (~)
$580 - $20(8)—43
450 = 7 T :
- 360 o
280 ;
& 70 ;
160 .
120 i

b- If there arr::! IOQ firms in the industry and all have the same cost schedule, complete the

ket supplv’schedule in the table below. (5 pts .
marke pp,r 1_(p) o OO
Quantity Price Quantity
demanded : supplied
500 $580 '
600 ‘ 460 .
700 360 . N *
800 280 J
90 220
1000 160
| 1600 120 |
c- What are the equilibrium price and quantity? (5 pts)
- _ T o
Price: S ,é” = Quantity: ?' 7

Page 8§
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PART I: Muliiple-cheice guestions {60 points).
Circle the best znswer for each of the following questions:

., The production function of a firm shows the
relationship between explicit costs and implicit costs.
/

relationship between labor and capital.

b. '
(G relationship between inputs and output. /
d. amount of goods produced per year. -
o 7

. type of resources required to produce goods. /
nerally, as consumption of a good decreases (fatodl gl a8 Ll Aale 3hay), th/

Gen
/ @ marginal utility will rise.
. marginal utility will fall, /
c. total utility will rise. - ra "'i'l j J
d. both total utiity and margmal utility will fall.
=

both total utility and marginal utility will rise.

3. An example of an implicit cost for a business firm is
a. thecost of raw materials.

b. wages of labor.

(c¥ 1abor services provided by the firm's owner.
d
e

electric utility expense.
marketing costs.

4. The Jaw of diminishing marginal retums means that as you increase the number of units of a variable inpui, after

some point:
a. iotal cutput will fail.
b. costs of production will fali.
c. demand will fall. Impz & f/e’ o
O

y marginal product wil] fall.
e. marginal cost will fall.

5. "Ifthe pnce ofa product falls, that product becomes cheaper and peuple will want to purchase more of it in place of

other goods." This statement best describes
a.. the income effect.
the substitution effect.
the budget line.
_ the water-diamond paradox.
the law of diminishing marginal utility.

6. Ifthe price of a drink is $ the price ofa hamburger 15 §6, Jamal's utility maximizing combination of drinks and
3 4

°ee@e

hamburgers per day is
a. one drink and two hamburgers.
b. one drink.and three hamburgers.
¢. three drinks nd one hamburgers.
d.  six drinks and two hamburger.
@ indeterminate {33 ¢S ¥} from this information.



#* answer the pext three questions on the basis of the following Cheese | B

indifference curve and budget line for a giver consumer

60
7. If consumer income is 5240, then 7 7
(&) the price of sweets must be §3. (e
b. the price of sweets must be §16. vl
¢. the price of sweets must be $4.5.
d. the price of sweets must be §2.25.
e

the price of sweets must be §4.

8. [n equilibrinm, the consumer will
a. purchase 30 units of sweets or 60 usits of cheese. ' : 15 30
b. purchase 30 units of sweets and 60 units of cheese.
¢. purchase 15 units of sweets or 3G units of cheese. The A&
(& purchase 15 units of sweets and 30 units of cheese. Te
e. none of the above is true.

- 9. Which of the following statements is correct?
a. Combinations C, D and E give the consumer same utility.
(b-> Combinations A, D and B give the consumer same level of satisfaction
c. For this consumer, combination B is preferred to combination A
d. - Combinations B and D cost the same amount of money =
=

none of the above is true.

A,

. .
)J / f\(Q Economies of scale is a situation where:
Wk s . '@ o~

@ Long-tun average cost falls as output increases.

Ve . Long-run average cost rises as output incrc&ses,!\‘
¢. Long-run marginal cost falls as output increases.
d. Long-run marginal cost rises as output increases. X
e. Long-run fotal cost falls as output increases.

A g 11 A fixed input is
A / a. an input whose quantity can be changed in both the short run and the long run.
b.  an input whose guantity can be changed in the short run but not in the long run.

Z€ an input whose quantity can be changed in the long run " but not in the short run
d. an input whose quantity CANNOT be changed in the short run nor in the long run.

e, an input whose price is fixed. A

12. If someone complains (%) that he/she doesn’t feel very well because he/she ate too much pizza, we would

é “conclude (zi%.) that the mégggaLunmygf the last piecs of pizza eaten was:
a. equal to average utility. @

b. positive.

C. ZEero.
d. very large.
‘ @ negative. ]
‘ 13.In the following figure, curves 1, 2, 3, and 4 represent the: “ 1( L
l a.  ATC, MC, AFC, and AVC curves respectively. $
! b. ATC, AVC, AFC, and MC curves respectively. & ¢
c. AFC,MC, AVC, and ATC curves respectively. \ \ pVv €

¢3¢ MC, ATC, AVC, and AFC curves respectively.

| e. MC, AFC, AVC, and ATC curves respectively.

]
OQutput : ]




¥#* Consider the following graph which represents total

product curve for a business firm. Aszume that labor is 210
the only vartable input and the wage rate i5/§60iijer. 185
worker per week. Use this graph and information to 180 ]
answer the next three questions. 155 v
U9 150 s
14, Assume the firm empioys 3 workers, what is the average § 135 — /
product at this level of employment? T i20. J
a. 15 T 105
B 20 ﬁ’——— % 90 !f
c. 30 < o 75 7
d. 60 C =80
e. None ofthe above 45
3¢
15. What is the margihal product of the 5th worker? 15 -
a. 120 T @ 0
&165 m_p?%\ 0 1 2 3 4 5 6 7 8 9
Z' ;g - e Labor {workers)
e 30 2

E! ( l ? . Suppose the firm produceX60 units of nutput)what is the average variable cost at this level of cutput?
’ V - ? P-4 k—d f"_;

c

d.
V’Q*L:” ! ¢ _ I¥o
_-_-396'0 T T fo

17.1f the marginal product is greater than the averagé product, then PA A OP
— V'é‘ a. average product must be decreasing. ! f
7T @ average product must be incrcasin-g.
bo c. marginal product must be decreasing.
d. marginai product must be increasing.
e

= \/(iﬁ, 5% both (b) and (c) are correct.
He
18. In the short run:
g 92 1w, a. afirm cam:™ increase its output -~
" b. afirm ean cuange all of jts inputs >
of = 35 c. total fixed cost is always higher than iotal variable cost >
P VAT id d,) average total cost is always higher than averags variable cost
- e. all of the firm's inputs are fixed X

19. When total ufility is a maximum, marginal utility is:

& aminimum.

b. a maximum.

c. positive.

d. negative.
. Zero.

2 2 & 20.1f the total cost of producing 6 units is $48 and the marginal cost of producing the seventh unit is $15, then
v @__the average total cost of 7 units is $9 ‘ :
the average variable cost of 7 units is §15 e
the total variable cost is $15
the average fixed cost of 7 units is $9
the total fixed cost is $48 Y 9

oo

N
W

AV
~5

T et 2§07




{20 points)

Assume that Ramallah Industdal Co. produces special machines. Assume that labor is the only veriable input and the
firm pays its workers $20 per worker per day. The following table represents its cost schedule: '

Quantity Total Costs
RH 60
1 30
2 90
3 ‘ 110
4 | 140
5 180
6 225
7 280

a. If the firm produces 3 machines, calculate the a\-rerage fixed cost (AFC} at this level of output?
' ' - . t =3
g‘-,_y C.off';: éo aaa L ot ¢ o = -

= /90.—,’('0 _ ?9 = BQ
o!/j - /

6 How many workers does the firm need to produce 5 units of output per day?
5’&14 S N VA ] /j_o

E

i

LARN | @ if the firm {s producing 5 machines, what is the marginal product (MP) of labor at this level of output?
‘\ ’ fp%’ mé:___l’: ﬁ j:( ;l.f‘ﬁ"f){‘JV\.g.\'fy 5 m,c&,ﬂhz’f\ef W:, %{'

fh/a YV I B & v orbler s /“1(_::140:
{ werber X 0% = /29 |




Part I1: (4G points) Answer each of the following questions in the space provided. SHOW YOUR WORK!

Consider a consumer whose income is §16 per day and he spends all his income on two goods: X and Y. The price of X

is $2 and the price of Y is §3. The marginal uti'iy derived from each good is 25 follows

e e

b

Good X ' Good Y
MU MU per Q MU MU per W ped ;::‘;(;?
doilar doliar ¢
1 24 ig 1 30 fo '
2 22 N 2 24 (Q— J
3 20 | o 3 21 :;,—
4 8 | 9 4 18 {
5 16 @) 5 12 s
6 12 5 P 6 6 2 ‘,Z P

a. Fill in the blanks for marginel utility per dollar for both X and Y in the zbove table.
b. Ifthe consumer wants to maximize utility, how many units of X and Y should he buy? Explain?

).;2 !‘.f{'?/

5: (! | (,_,~———'—~:—"“'

T’AC Cons :@me:-" wolf hﬁt w an ) }_?'/"““_'Lg ‘)E

éﬁt‘.—&ﬁ,{ }‘ﬂ ‘!'Ib,fr!f Q?‘ig Cﬂﬂ;‘lﬂmf’f é ;/O"f"\c!' Al' hff mo‘n@
aad éﬁ_tﬁ’_‘g%:muﬁ ;%:_._t;_ :—':;’ri—#

LS &
‘¢. Ifthe price of Y decreased to $2, how many units of X and Y should the consumer buy to naximize his utility?

I 1/ o ,‘A____..n-__-———-——r——-- e .
N ; - : oé X Aan o j
7/‘}2(: [anfwmem ™~ 7 & vl b_‘lj 4 hnf{' M—J t j
becons mug o mby 19 A% g and i PRI Porat

> "y Dtre Coobhmed Spen

d. Use your answers to (b) and (c) above to derive
and draw the demand curve for good Y in the /0

space provided here. Label vour graph.

% gy O
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PART I: Multiple-choice questions {60 points}.
Circle the best znswer for each of the following questions:

1. The production function of a firm shows the
relationship between explicit costs and implicit costs.

a.
b. relationship between labor and capital. o —_
@ relationship between inputs and output. ' /_, - -
d. amount of goads produced per year. - e /// )
e. type of resonrces required to produce goods. //? /" )
- -
7. Generally, as consumption of a good decreasss (bt ¥gial odi LS (Ade Aia), $16n //

(3) marginal utility will rise.
b, marginal utility will fall,
c. total utifity will rise.
d. both total ufility and marginal utility will fall.
e. both tofal ufility and marginal utility will rise.

tad

An example of an implicit cost for a business firm is
the cost of raw materials.

wages of labor.

labor services provided by the firm's owner.
electric uttlity expense.

maketing costs,

¢ agoe

4. The law of diminishing marginal reterns means that as you increase the number of units of a variable input, afier
some point: _
a.  total output will fall.
b. costs of production will fall.
¢. demand will fail.
) marginal product will fall.
e. marginal cost will fall,

A
.S)

3. "If the price of a praduct falls, that product becomes cheaper and people will want to purchase more of it in place of

* other goods.” This statement best describes
& the income effect.

3 the substitution effect.
the budget line.

_ the water-diamond paradox.
the law of dirminishing marginal utility.

{_

o Rp

6. Ifthe priczofa drink is $2, the price of a hamburger is §6, Jamal's utility maxindizing combination of drinks and
hamburgers per day is 3 ¢
4. one drink and two hamburgers.
b. one drirk and three hamburgers.
¢. three drinks and one hamburgers.
d. . six drinks and two hamburger.
@ indeterminate (223 O Y)Y from fhis information.



*# Angswer the next three guestions on the basis of the following Chesse

indifference curve and budget line for 2 given consumer

7. If consumer income is 5240, then CZ Y-
(B the price of sweets must be $8. T
b. the price of sweets must be §16.

\

the price of sweets must be $4.3.
the price of sweets must be §2.25,
the price of sweets must be 54.

@ foo

2. In equitibrium, the consumer will

a. purchase 30 units of sweets or 60 units of cheese. 13 300
b.  purchase 30 units of sweets and 60 units of cheese. c . Sweets
c. purchase 15 units of sweets or 30 units of cheese. Lwl The &
¥ purchase 15 units of sweets and 30 units of cheese, He - T e » e
e. naone of the ahove is true. P “
—a‘ o
9. Which of the following statements is correct?
a, Combinations C, 1 and E give the consumer same utility, >
@; 5 Combinations A, D and B give the consumer same level of satisfactinn,
c. For this consumer, combination B is preferred to combination A~y
d. Combinations B and D cost the same amount of money.x,
e. none of the above is true.
10. Economies of scale is a situation where:
{(a) Long-run average cost falls as ouiput increnses. <
Long-run average cost rises as output increases
¢c. Long-run marginal cost falls as output incrazses. .
4. Long-run marginal cost rises as output increases,
2. Long-run tota] cost falls 2s output increases.
11. A fixed input is
2, an input whose quantity can be changed in both the short run and the long run.
b. . an input whose quantity can be changed in the short ruv but not in the long run.
<%y an input whose auantity can be changed in the long run but not in the short rui.
d, an input whose gquantity CANNOT be changed in the short run ner in the long run.
e an input whose price is fixed..
12.If someone compfains {33} that hefshe doesn’t feel very well because he/she ate tno much pizza, we would
conciude (F5a3) that the mﬁnglaLﬂnlL‘y{QL the fagt piece of pizza eaten wa
a. equal 1o average utility. N
b.  positive,
c. Zero.
d, very large.
@ negative.
13.In the following figure, curves I, 2, 3, and 4 represent the: ™ 1‘~
a. ATC, MC, AFC, and AVC curves respectively. ¥ / r
h. ATC, AVC, AFC, and MC curves respectively. / 5 P
c.  AFC, MC, AVC, and ATC curves respectively. / 4 pY
(& MC, ATC, AVC, and AFC curves respectively. \ 3
e. MC, AFC, AVC, and ATC curves respectively. \
\k
\_,/M""*-n-h._____.____-_‘-qf P T—

60 o [B

Cutpit



#+% Congider the following graph which reprecents {otal

product curve for a business firm. Assume that {abor is 210
the only variable input and the wage rate E%O/per 195 1
worker per week. Use this graph and information to 180 e
answer the next three guestions. TIES
.
W2 150 T
14. Assurne the firm employs 3 workers, what is the average 4'3 935 +— [
product at this Jevel of employment? T 120 /
a. 15 = 405
29
& Lo < / .
c. 30 73 = 75 /
oy T b=
d. 60 ERA -‘C;’ > 50 —
e. None of the sbove e 45 #-
Toms 30
15, What is the marginal product of the 5th worker? 15 I
a. 120 T ] e : !
b. 165 s ﬂ&(‘:/ 0 1 2 3 4 5 8 7 8 9
ey 45 L e [
d. 35 Vo as Labor {workers}
e. 30 t%;‘ e
;_f,———- —, Lo - 3.
16. Suppose the firm pmduce@ units of outputdwhat is the average variable cost at this level of output?
¥ ooa 20 -+ ?*"#EJ . A< 7 i L0y
b, 30 vty pn L
T e b o = : N B
c. 1 e AP ) —= 8
' ; w 8p o e Lot 2 V80
a 2 . Vi 7t/
o< 3 1o A he
G- | P A
£ th 1 prod han th e product, th e
17.1f the marginal product is greeter than the average produci, then
. aWalA) AN
a. average product must be decreasing. mep A
Cb:) average product must be increasing.
¢, marginal product must be decreasing. _
d. rnarginal product must be increasing.
e. both (b) and (c) are correct.
18, In the short run: . ;
a.  a fimn came- increase its output
b. afirm can u.dnge “all of its inputs ¥ '
c. total fixed cost is always nigher than total variable cost >
\g;) averags total cost is always higher than average variable cost
= all of the firm's inputs are fixed X
19. When total iility is a maximum, marginal utijity is:
a. aminimum.
b. a maximum.
¢, positive,
negative.
(& o
20. If the fotal cost of producing 6 units is $48 and the marginal cost of producing the seventh unit is 515, then
(&> the average total cost of 7 units is £9 .
b. the average variable cost of 7 units is $15 ;@jﬁ%
c. the total variable cost is 315
d. the average fixed vost of 7 units is $9 T A
e, the total fixed cost is $48
6 i 9
£ 16| 2 =9
= 2 " /-‘
2 =4
Te ome .
; 4o T 3 ,
5 7 - .{. -
i £ /v/ i
Vs - -
:”I‘f‘("“r. ‘?-""C?




Part IL: (40 points) Answer each of the following questions in the space provided. SHOW YOUR WORK!

{20 points)

Consider a consumer whose income is $16 per day and he speads all his income on two goods: X and Y. The price of X
is $2 and the price of Y is $3. The marginal uti'ity devivad from each good is as fellows

0% 3 3 o <
Good X i " Good Y j
a_
Q MU MU per Q MU MU per 7
dollar dollar wree & ~ T
— - & otfen e
1 24 [ig ) 1 30 lo
2 22 L 2 24, (¢
3 20 i o 3 21 g
4 18 G 4 18 {
= A B3 o
5 16 | /9) 5 12 : A
6 12 b 6 L 6 ¥l P
v e
a. Fill in the blanks for marginal utility per dollar for both X and Y in the above table.
. Yan iy 2
b, Ifthe consumer wants to maximize utility, how many units of X and Y should he buy? Explain? . .
) 4 s . a g Lahe Hyg e
X oz b PfPtr ' B )
o a ,
A W b and [ruart oy
i /"C, { NS bm @’ o - e

'ééLaJr’)’ s ﬂtffﬁf}' Qﬁ'}g fonﬂnmi’r ﬁ’f/’;‘mé all his meny

pae. My - ,_'L 8 |
Lo /) &_ __.;E(—;- - H
\ S CL' i

c. Ifthe price of Y decreased to $2, how many units of X and Y should the consumer buy 10 maximize his utility?
Why? % = Il ‘

iy = f/f'/ | | f | “II‘ aé XJ o LL:@ )

P Lenfrmr T B it bﬂj

_’:? fL'\‘[ f‘ﬂ- 'f"iljf_ /ODIQ"‘L
RSN U A I e e
Lhe (onfhmed SPIO W’Z

Jrﬁ'cah! M x =~ prly 1;_‘?_;

e —
Js)( PEJL

d. Use your answers to (b) and (c) above to derive
and draw the demand curve for good Y in the f)

space provided here. Label vour graph.

&
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2 (20 points}

Assume that Ramaliah Industrial Co. produces special machines. Assume that labor iz the onlv varizble Input and the
firm pays its workers $20 per worker per day. The following table represents its cost schedule:

Quantity Total Costs
- 0 60
1 80
2 %0
]
T 23 110
| 4 140
+ s 180
6 225 o
— R
7 280 PR
. — - e
. : J A 2 o4
a. If the firm produces 3 machines, calcuiate the average fixed cost (AFC) at this level of output? AR C o AR
i — 4 gL v é’ })So ‘l' = _? o . e ’
iy cost=60 70 ‘ 5
— o _
— (fa\p L :,L P
y L
{ 2¢
b, Ifthe firm produces 5 machines, calculafe the average variabie cost (AVC) at this level of output? ;m‘i; V. =
3

AV < :2&////@}-’?@2; 24 2w

<

e )
- ) -
o. If the firm produces 4 machines, calculate the marginal cost (MC) of Jast machine? e s i ( ’
P 2 e r ; g
i
/ y o lio ?
-2 = 3o
l‘g' _,j /
b =
i €5 B
R PRV . ‘
d. How many workers does the firm need to produce.5 units of output per day'? "" 1_9, . PR
nl 7L " L = / 610 ; -
54 / @ Ve 1 e
s -8 e
\ y < d . "'d—i:‘:/ =

Ve

e. Ifthe firmis pmducmg 5 machines, what is the margmal product (MP) of ]abor at this level of output?

3 i ks g § achivs o,

Wl g & W oardlec s MC"M
{ wacker x%209% = /90
; . e W o] < =
T O 7 - f %7
8] _M_E
| ~es M0 L =
\—.._::_:-d______‘____ e ‘____:C' ‘*1‘“’
- — A -y AL
< o Ve ,{ A £ 9
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\ 3 \ Section No.: 4
Answer Part I (the mulfiple-choice questions) here. By disda Jo JaV0 e it il Lo Cof
p q k.;]-p - ‘515 .

Put mark (X) on the letter that corresponds fo the best answer as in the following example:
:El,L:H JL:l! L} Ls” {.:l.,.wLLIA'r ?ul:-\"! J.‘_E_. L_g.L!‘n I.JJ."L‘ LS’LF (X) 3}.51 C:.a

Q. (2) (b) ] (d) (&)

5. () (b) (©) o4 (e)
2. @ P @ @
3. (@) (®) © e ) T
4 (2) @ © @ / ’ s
-

!
5. (a) &y (© (d) !M
6. A 0 © @ X

T w M O @ © 7

3 @ ® @ @ -

9. @ ® W o @

10, () (b) (¢} Gy =]

11. {a) 4 {c) fﬁi\ {e)

12. ™ (b) B @ ()

.Y ) © @ -

CAE A B C IR C SO
15. (8) 4 (cy {d) (e}
16. (a) (0 {c (4 (e)

17, >, {b) (c) " (d) {e)

1%. (a) (b) {© &) {e)
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BART I Multiple-choice questions (54 points).
Circle the best answer for each of the following questions:

1. A curve which represents all combinations that give the consumer same level of satisfaction is called
a. the demand curve
b. the safisfaction curve
c. thebudget line
@ the indifference curve
e, the utility curve -
N Me =3 e
2. Marginal cost is the M /TG
a. rate of change in total fixed cost that results from producing one more unit of output.
b, change in total cost that results from producing one more unit of outputs”
¢, change in average variable cost that results from producing one more unit of output.
d.) change in average total cost that results from producing one more uait of autput.
e change in total cost resulting from employing extra worker.

3. Ifa firm is not producing any cutput, total cost equals
4. ZBrO '
b, marginal cost
c. variable cost
@ fixed cost
e. none of the above

4, MNegative marginel utility implies that LSS
a,  total utility is negative. U Jj
b. total utility is diminishing,
¢ marginal utitity is diminishing,

d. Both (a) and {b) abovs
e. all of the above
5. The consumer maximizes his wtility AV Y ="

when his margina! utifity equals the price of the good. T
when his budget line is horizontal (&) ,

where his indifference curves infersects (2b2) his budget line.

When his indifference curves are upward sloping.

where the indifference curve is tangent (U= to his budget line.

6. The law of diminishing marginal returns says that NP =

if all inputs are increased, output will decrease.

coohy @asoe

smaller and smaller extra amounts of satisfaction.
@ Ifall input are increased, both output and marginal product wili decrease.

as extra units of a variable resource are added to a fixed resource, marginal product will deciine beyond some point .

because of ecoromies and diseconomies of scale, a firm's long-run average iotal cost curve will be U-shaped.
beyond some point, the extra utility derived ({&s) from additional units of 2 product will yield (=) the consumer




@

-

7. When the average product of a variable factor increases, the average variable cost A~ Je
also increases ~ Jo o\ Al

decreases P\P / R 7&

remains constant S :

equals average product

none of the above

o ao{ge

§. Changes in consumption that results from changes in purchasma power (431,30 5 @ty due to changes in price is called
a. law of demand
b.  law of supply
¢. consumption effect
d.  substitution effect
@ income effect

§. Iftotal product is increasing as the quantity of input used rises, marginal product
a. must be zero - * =
b. mustbe neg.a.twe TR /r‘ H? 1
¢c. may be posmve :
must be rising '
e, must be falling

10. Suppose that the marginal utility of the last apple purchased was 10utils, and the marginal utility of the last orange
purchased was 15 utils. The consumer should U AD IS
-a. purchase more apples and fewer oranges.
purchase more oranges and fewer apples.
¢. purchase more apples “and more oranges since both goods have positive marginal utilities,
d. purchase less apples and less oranges since both goods have positive marginal utilities.

@ there is insufficient information (A3 2 «ita ) 10 determine how the consumer should adjust (-3 «J3=3) his or her

purchases.

v @ Which of the following costs remain unchanged as the quantity of output increases

a. average variable cost
b, total variable cost

¢, average fixed cost
Gf/ fotal fixed cost

&, both{¢)and {d)

12. An increase in the price of product A will 4 ?- P '—":‘b

a. increase the marginal utility of product A.

b,  increase the margiuat utility per dollar spent on A,

@ decrease the marginal wtility per doliar spent on A.

d. not affect the marginal utitity per dollar spent on A.

e, cause utility-maximizing consurners to buy more of A, //’;\;:\)
YA

13. When average product equals margiral produce,
4.0 average product is maximum.
& marginal produet is maximum
o total product is maximum. SN A
d. marginal cost is maximuni '
e. rmarginal cost is minirmam. -

}4.1f the sixth unit of a good gives 2 consumer 12 units ofutili*y, then the third unit would give him
/& more than 12 units of utility N

" b, lessthan 12 units of utility) W
¢. O units of utility
d. 24 units of utility
e. none of the above is correct. |
© %
v € = | '_
& = j—;}( 4



15. To economists, the main difference between the short run and the fong run is that
a. the law of diminishing returns applies in the long run, but not in the short run.
@ in the fong run all resources are variable, while in the short run at least one resource is fixed.
¢. in the short run all resources are fixed, while in the long run all resources are variable.
d. fixed costs are more important to decision making in the long run than they are in the short run.,
e. firms can increase their output in the long run, but not in the short run.
-
16. A consumer has $350 per week to spend on goods A and B. The price of these goods, the quantities he now buys, and his
utility are

Good BPorEIZT-l " Units Total utility Nﬁgﬁgal \%\}" 15
A $2 20 2,500 15 =
B $1 10 1,600 10 ﬁ \©
_“-."\ . '1‘- oc)
To increase his satisfaction, this consumner should: BV
a. buy more of both good A and good B. S
b. buy less of both good A and good B. b -
c. buy more of good A and less of good B. ey b
(@) buy less of good A and more of good B. R
e. do nothing, since this combination gives him maximum satisfaction
17.To the economist, total cost includes (Jedd) o

= Fex

explicit and implicit costs, including a normat profit. =
b. neither implicit nor explicit costs.
c. implicit, but not explicit, costs.
d. explicit, but not implicit, costs.
e. accounting costs plus economic profits,

18.If the average product of labor falls frem 5 to 4.5 when a sixth unit of labor is added (Lsbadt Jobl 28z) s3), the margiral
product of this sixth worker is
a, 27

b. 9.5 ' RE
o, 45 a P
(@;“ 2 i 4’/_1’ -

e. 0.5 -

\ R
4
fa) » : ]
3 Y e :
L7 e
\ﬁ
© 7
5 S AT
bl |
Y




PAKT I Essay questions {40 points) ot ‘:’% ﬂ
LA {3
Answer the following quesﬂon%the space provided. SHOW YOUR WORK! — r% o iy i*
. AU A
1 (15 points} _ (l_
3 (o= S
P oy et g T
Consider the following table which represents the utility of a consumer ! M W ~-Y§$’f A ies 7
' 1
Ljf}! *m,:‘j? :&;‘%:éy
g C §
Q Iy . MU MU per dollar 0 e \lﬁ#% - RALS &
- {.?‘*LAAQ%‘ - .
w / “::‘i{‘ & ! ﬁf-'lU}
i 14 15 / | o iy = Tha T4
Y F B =Thy 7
4 Ay " 77 SE
2 _._%_:@J_ Lé/ 8 /;E:‘;a‘% £
o ra _';;: -~ e SR
. e o, s FT
4 46 iz; / 2L s
/ ’ [
’““ i
5 56 4 L 7
., . 6 5¢ 0 s
BAA o -t 7
7 ag -0/ !

2. Assume that the price of the product i@\‘mr unit, complete the above table.

b. When does the law of diminishing marginal utility sets in {2y} for this product? Explain why.

¥ . .
. » s i %'* P et Sa
0o g TP .-,.-S‘m_‘b @g}g‘ﬁ:i Pt };‘ L el d‘v T

\
f,,}\,.-’&”‘ A E ta i?:«

e If fh° consumer can get thls producl free {bb-n) how many units will he or she,yvni conSJme’J Exp!am why.

1.
f?ﬂ Nar:S

= o)
— .é;ﬁf’f >




—a (16 pomts)j / Lf{ /

Consider the fo]]owmg &iFph whsch represents the cost curves for & business firm:

40 -

20-_

Cost {dollars)

Quiantity (tons)

Answer the following questions on the basis of the above graph.

First, suppose that the firm is cwrently producing 60 units of output, calculate the following at this level of vutput:

= Total Variable Cost (TVC) e e e
. LY RS

fL\""\J {a, i :&'_,i% :, . 11 Q
= =) a;;? ‘\ (() |
Y
7 - e e st e AR /ff
3 3 2 / )
R S &

NT—= AFT « +L\‘ - )X
= =R S o<
S T X

GrC o A Ve AL

Second, suppose that the firm is currently producing 20 units of output, celculate the following at this level of output: 1% + = 7 e

a. Total Cost (TC} b

LA '"fi:\‘ Te- Te ptve ©°

_ &
Atc= N -H“t\/ YR

i
Ty
N
s -
G
A :
o |
4 f - ;
i
j
z
;. \\._
o Ky
/ o S /})
o




| E—] {16 peints)

Consider the foliowing table:

e
/A

’\"‘5 =
M)}\_[_s&

ot i

Units of labor Units of output {par el i ~J {;‘
(workers) month) _mﬁw-
1 25 5 ﬁ’e'?f 7 ‘:r* B
2 0 3%
3 90 65
4 112 23
5 130 05 o
6 145 s L0
<5,
a) What is the marginal product of the fourih worker? . ’JT\ >
U
M = f}jim )
e = 20
s
\_\-ﬂ;,.' ;_ ,\.:
b) Ifthe firm is currently employing 4 workers, what is the average product of labor? o7 R
bﬁ:.}‘_ é"b-) ey .-_...-—u._.!— C‘ - !%5— *:,\ N I niL
QAT = 2
e

¢} Iflabor is the only variable input, and thd”mﬂper month, what is the average variable cost when the
firm produces 90 units of output? - L

d) Assuming, again, that wage rate is $120 per month. What is the margma! cost of production wheﬂ the finn increase

eutput from 130 to 145 units of output?
.5

My é

a

o D >

'y ¢ i

R C{‘-'

YT i




i
Birzerr University

Economics Department
Economics 131

Check Your Instructors name

Instructors: Dr. Yousef Daoud o )
Dr. Mohammad Nast (o)
Dr. Fathi Sroujt ( )
Ms. Shireen Al-Basha ( )
Studeat Name: Usorna N@ee_ b ;'Ja}wreb CH\s 5,1*5 Uiy Student Number: la:a_‘ls
ond Hour Exam 2nd Semester 2010/2011
| ?./LP Place an X on the cotrect choice
? i
1) W ® O O
2w ® 8 O
3) w ® ® DO
4 w ® & O
5 MW e ¥ o

6 B ® © O
@ ® © M
g @ ® © O
n @ ® O ®
wm W ® O O
1) @ ® © ®
2 @ W O O
13y @ ® © 9w
W @ ® ® O

B @ 6 & O
9 W ® O O
Mmoo o@w ® 0 9w
1y W B O O
1 @ ® © O
20 @& ® © O




i. When a firn: is experiencing ( 28=2) economiss of scale:

A Minimuim efficient scale has been achieved

*B\Lono-run average total. cost is decreasmg
C. An increase in long-run total cost is accompanied (=) by a less-than-proportionate (s Ji) increase in

output
D. A given percentage increase in aIl resource inputs results in a less-than-proportionate increase in output

2. The reason the marginal cost curve eventuayy (1,21) increases as output increases for the typical firm is

because: M c @4
“&. Of diseconomies of scale o
B. Of minimum efficient scale Lo

M/’\ f the law of diminishing returns

D. Norma] profit exceeds (Jsl=3) economic profit

3. A consumer makes purchases of a product X such that the marginal utility is 10 and the price is $5. The
consumer also tries a new product Y and at the current (=) level of consumption it has a marginal utility of 8

and a price of $1. The utility-maximizing rule suggests that this consumer should: muy =lo
A. Increase consumption of product X and decrease consumption of product Y ' P =5
B. Increase consumption of product X and increase consumption of product Y My = 8

¥, Increase consumption of product Y and decrease consumption of product X

D. Decrease consumption of product Y and decrease consumption of product X ? =V sl

y %

4 A firm sells a product in a purely competitive market. The margmal cost of the product at the current.output
of 800 units is $3.50. The minimum possible average variable cost is $3.00. The market price of the product is

=-%4.00. To maximize profit or minimize losses, the firm should: o
A. Continue producing 800 units mec = =3 Se

B. Produce less than 800 units
&, Produce more than 800 units Me , PR
D. Shut down Hoo D 352

5. In pure competition, the demand for the product of a single firm is perfectly:
A. Elastic because the firm produces a unulue YA product

B. Inelastic because the firm produces a unique product

C. Elastic because many other firms produce the same product

D. Inelastic because many other firms produce the same product

6. Which Of the following statements is true :

A. Economic profit is larger than accounting profit

R Economic profit is smaller than accounting profit

C. Economic profit equals accounting profit

D. Economic profit cannot be compared to accounting profit

7. If a firm is a price taker, the total revenue curve is :
A. Flat (horizontal line)

B. has an inverted (< %<) U shape

C. Downward sloping straight line

R. Upward sloping straight line starting at the origin



&, Which statement is corraci? EE

A. Marginal cost is.the change in average cost when there is a change in ougpwut of 1 unit
E’ The marginal cost curve cuts the average variable cost curve at its lowest point :)"ré)\
&7 In the long run view of the firm, all costs are fixed o
D. If average variable cost is increasing, then average total cost must be increasing too ﬂ vued

f‘-@

9. A firm increases the quantity of all resources it employs by 5 percent. As a result, output increases by 7

percent. This is an example of:

A. Minimum efficient scale

B. Diminishing marginal returns

C. Increasing long-run average costs
' __r_D:J Economies of scale

QrNWEBWoO NoWw

10. In the figure above, a consumer who spends her entire income on two goods X and Y, if the price of Y is $2,

then the consumers income is_ 3o and priceof Xis 3 “ 9
[2) $30 and $3 ' > 5 e U5 X2
B. $3 and $30 (> ® 30 '
C.$15and §10
D. $10 and $15

oot

11. When average variable cost is at a minimum: pc 7°
A. Marginal cost is at 2 maximum
B. The average product of labor is at 3 minimum
C. The marginal product of labor is at a minimum
>@ The average product of labor is at a maximum

0 BUC wa N



e P
Mg 2 = 1-§
Lt = 4, s o
e
Al
P - st
12, The profit-maximizing behavior ior & price-tzking inw requires it 1o ODETAIE &l ieast whare: \

A PETR=TC X§

B,2=MC=AVC+" , 9 Moy = Mu
C. P = MC = ARG, 0¥ Sapled M
D. P=MR =MC = AFC | /=-{"‘

13. Laila is maximizing her satisfaction consuming two goods, A and B. If the marginal utility of A is twice
that of B, what is the price of A if the price of B is $.80? ‘ o Ta pp

A.$.40 Mmgp 2 2mvh K, =
B. $.80 " w 2%
C.$1.20 | WP ¥ al A =
1,60 %ﬁ—ﬁ 7.7 s

14. The price of diamonds is substantially (353} greater than the price of water because:

A. The total utility of water is greater than the total utility of diamonds

B. The total utility of diamonds is greater than the total utility of water
[C.JThe marginal utility of the last unit of a diamond is significantly (&) greater than the marginal utility of the

last unit of a gallon of water _
D. The marginal utility of the last unit of a diamond is significantly less than the marginal utility of the last unit

of a gallon of water

MP,,
AP,

15. Refer to the above graph, It shows the rri?gi@_p_roduct of labor (MP) and the average product of labor
(APy). At which point are marginal and averdge product the same as labor is added?

A. Point A
B. Point B
[Cl Point C
D.Point D



Output  Total Revenue Total Cost

0 $0 $50
i 40 74

2 80 94

3 120 117

4 160 142

5 200 172 TR ST

16. Refer to the above table. When the firm produces 3 units of output, it makes an economic:

' Profit of $3
B. Loss of $3

C. Profit of $9
D. Loss of $9

o 15 20 35
Qutput Rate

17. Refer to the above graph. It shows the cost curves for a competitive firm. At output level 20, the marginal

cost is:

A. $0.60
B. $0.90
C. $1.05

D) $1.25




T Trafar e ve i - -, v R R o T TT TS AT e | e et (RS o cre e e
. &, Refer wo the above grapl, Ay which peint i marging] procuct (MP; 21 e meximum?

@7 Point 4
B. Point B
C. Point C
D. Point D

$

VC

b :

a Q

0 g a

.19. Refer to the above graph. It shows a profit-maximizing purely competitive firm operating in the short run.
Which area in the graph represents the amount of economic loss for the firm? .
A.Obeg ' :
<
B bede P ? A T
C. acdf
D. abef

Nuimber of Units

of Commodity Total Utility
36 326 s
Bl
80 w- 32

1= BEN . ST NP
-
o
[«

20. Refer to the above table. What is the marginal wtility of the fourth unit?
A, 36

Bla4

C. 80
D. 116



Part 14 @//\ \)
i / L7L’ v

1) [15 p&mﬂ{onsumer who buys two goods X and Y with prices Px=4 and Py=2, the consumers income is
518/month. Her consumption schedule is given below: v

Q XY Mux | Mux/Px Muy | MUy/Py | Mux/Px'
0 :
1 20| & 3 16 & o
2 6] &£ Y 14! Z Z
3 12| F£3 12| € &
4 8 A 100 5 |4/
5 6 \5 AR
6 -4 | 6] 3 2 ]

a} I3 points] Calculate the MU per dollar for each good in the in the table above, show the formulas for

your calculations below
12 g ,& 1

Maux ?;?-’ ’ lr?‘ - ta TTa /
P o e
i e "-"‘ z ,2
qu = A6 -5 r—--=.: (5 2
P T
b) 3 pomts] WiHat are (State I}brrtrm condlt:ons that must be satisfied to get maximum utility
¥y o U & 2 g eclml,brnun’l .
,/‘g 552 Txb =S LX +>7 - gf’vﬁ"'yb o (
T )-Z« + L 2"1 \ i\(\ ‘-—"»Jk'r w4 : . - -V\/(" /

2. 3k o+ éj — (a,j:;v%"*‘\f/\

¢} [3 points] How many units of X and Y will she’purchase to maximize utility.

Dt oF % < 30‘"”}‘-’;3
v

d) [3 points] Now suppose the price of X decreases to 2, complete the last column in the table above, find
the new combination(s) of X and Y that will maximize utility.
o + s> Y 42 =26 m‘L,‘b’ir,'um
3 €qu i g

Ao gzmzein | e or¥ ek,
e WX~ 59 L, w—_ﬁayﬂuk, 9‘;“‘3

5X -?&jat’o-t}‘z 22,
e} [3 points] Show graphically the effect of the decrease in the price of X on the demand for Y based on
your answer above. Q

P A B
4 2 N

2 Yy N




k’ﬁ'ﬂ/"zasf;ﬂe following production refztion

I~

12 points]

Q| MP, AP,
5 :
45 Y53 us
102] s | &1

133 st /1 s |-
195 | v | 433
222 97 | 49
e
0| 18 | 9%
2891 4 35.5
246 | ~3 0. F5

Wi [ v | B W= |~

a) [5 points] Calculate the Average and marginal product of labor in the table above, write down the

formulas you use in the space provided below. 222

@uadpd T DR s US=e lo2 M5 15esll ) 145-B2, 222 -00, Jdest
L s inpud P= ? G20 2o 3-1 4-3 S -
) S 51,42 2% 15,49, -3

:_‘45’, 5} 4

" us @,@,ﬁﬁ,aﬁ,}_ﬁ,%ﬂ,%

F_)P ;:%:: - g 3 g 5 & + g

_ - Us , 3 S1,48Fs 1M o, 355, 3. 7S

b) [5 points] If labor is the only variable input and Fixed costs are 100, the wage is 50, what is the uariable :

ﬁ cost Bf_g____mdgcing ng‘gni.ts. What is the average total cost at that point?l
\i%‘ fe —lep ,W=50 , produe 240 et ATc T
EC« = '00_ L=6 ve
U . = * (O
= 6 »50

= 307

(%CZ;-_HTO:UO"’

- -

-

- Q@ |
= Yoo . |
QU0 |

- \6¥



%
L

3} {15 points] A competitive firm has the following cost schedule, the price of output is 815

q TC| MC TR | Profit
0| 15| & o |-Is
1 30| #j5{ 15 | ®i5
2 40 ilo 30 | ~lo

3] 47 F |95 | -2 |,
4] 5518 léo | 5 f
5| 6510/ F | Ic

6l 711Y lao/] 1Y

7] 2]k 5] 13

81 111119 |92 | 49

9| 136 25 | 135 | —

10| 16832 | 150 |~1F

a} [6points} Complete the table

- DTec
e N

TR = g *©
Ww="VR Vo

Wﬁiﬁ points] W\Ty&ﬁ‘rms total fixed costs
TEc =

T¢ - Yoo =~ X<
\g‘ - O
¢} [3 points] How shany units should the firm produce to maximize profit? Show your answer

s s Fondd p&duaﬂ 6um" Pecms TR ST
This_give prax ’u@/(lt

and (MESMC/

anit F/ﬁme, maX Pro Wk Bk MR e e

d) [3 points] calculate profit per unit at the profit maximization point. +_
peo I} per P o -‘—;//Eﬁg;t af‘maXim’@th pori
13
F

\ L,sj/

-

%cas\Ts alled equili i -

bese CAxl ,proJUC s

)]

\
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1. When a firm is experiencing (3%} economies of scale:
A. Minimum efficient scale has been achieved

«B. Long-run average total cost is decreasing
T ' JAn increase in long-run total cost is accompanied (=i by a less-than-proportionate (tud J8y increase in

E—

output
D. A given percentage increase in all resource inputs results in a less-than-proportionate increase in output

2. The reason the marginal cost curve eventually () increases as output increases for the typical firm is
because: :
A. Of diseconomies of scale
}. Of minimum efficient scale
C.JOf the law of diminishing returns

D. Normal profit exceeds (Jslsi) economic profit .
i

3. A consumer makes purchases of a product X such that the marginal utility is 10 and the price is §5. The
consumer also tries a new product Y and at the current (=) level of consumption it has a marginal vtility of 8
and a price of $1. The utility-maximizing rule suggests that this consumer should:
A. Increase consumption of product X and decrease consumption of product Y
B.Increase consumption of product X and increase consumption of product Y

CC/Pnc: ease consumption of product Y and decrease consumption of product X

D. Decrease consumption of product Y and decrease consumption of product X
M

4. A firm sells a product in a pmely competitive market. The marginal cost of the pr oduct at the current output
of 800 units is $3.50. The minimum possible average variable cost is $3.00. The market price of the product is
$4.00. To maximize profit or minimize losses, the firm should:
A. Continue producing 800 units
B. Produce less than 800 units

¢ C)Produce more than 800 units
D. Shut down

-
L

5. In pure competition, the demand for the product of a single firm is perfectly:
A. Elastic because the firm produces a unique 2.8 product
B. Inelastic because the firm produces a unique product
( Q Elastic because many other firms produce the same product
D. Inelastic because many other firms produce the same product

6. Which Of the following statements is true :
A. Economic profit is larger than accounting profit
(B. “Economic profit is smalier than accounting profit
C. Economic profit equals accounting profit
D. Economic profit cannot be compared to accounting profit

7. 1f a firm is a price taker, the total revenue curve is :
A. Flat (horizontal line)

(B, has an inverted (+s%%} U shape

€. Downward sloping straight line

D. Upward sloping straight line starting at the origin



8. Which statement is correct?
A. Marginal cost is the change in average cost when there is a change in output of 1 unit

B. The marginal cost curve cuts the average variable cost curve at its lowest point

C, In the long run view of the firm, all costs are fixed
D\ If average variable cost is increasing, then average total cost must be increasing too

9. A firm increases the quantity of all resources it employs by 5 percent. As a result, output increases by 7

percent. This is an example of:
« A. Minimum efficient scale

‘B. Diminishing marginal returns

C. Inmeasmg long-run average costs
LD j.Econmmes of scale

Dol i oW

i

i

o}
=
Ut

G

10. In the figure above, a consumer who spends her entire income on two goods X and Y, if the price of Y is $2,

then the consumers income is and price of X is
/§>30 and $3 ’
'LJ.\DIJ c.nd &110
|
D. $10 and $15 |
11. When average variable cost is at a minimum: el AP i
A. Marginal cost is at a maximum oy o
B. The average product of labor is at a minimum
C The marginal product of labor is at a minimum
D The average product of labor is at a maximum



12. The profit-maximizing behavior for a price-taking firm requires it to operate at least where:
A.P=TR=TC
P=MC=AVC
.P=MC=AIC
D. P=MR=MC = AFC

13. Laila is maximizing her satisfaction consuming two goods, A and B. If the marginal utility of A is twice

that of B, what is the price of A if the price of B is $.80? L e

SCBA o hat® B e
B. $.80 AR = R
C. $1.20 A

TU$1.60

14. The price of diamonds is substantially (£} greater than the price of water because:

A. The total utility of water is greater than the total utility of diamonds

B. The total utility of diamonds is greater than the total utility of water
(C. The marginal utility of the last unit of a diamond is significantly (i) greater than the marginal utility of the

[ast unit of a gallon of water
D. The marginal utility of the last unit of a diamond is significantly less than the marginal utility of the last unit

of a gallon of water

MP,
AP,

- -7
. 1T
e Bm

BT A
15. Refer to the above graph. It shows the marginal product of labor (MP) and the average product of labor -
(APL). At which point are marginal and average product the same as labor is added? ]

A. Point 4
B. Point &
C/Point C

. Point D



Qutput Total Revenue Total Cost

0 %0 $50
1 40 74
2 80 94
3 120 117
4 160 142
5 200 172

16. Refer to the above table. When the firm produces 3 units of output, it makes an economic:

@ Profit of $3
B. Loss of $3
C. Profit of $9
D. Loss of $9
ATC
1_25 P, UV AVC
1.05 P VU -
."‘é
0 15 2_:0_ 35

Quiput Rate

17. Refer to the above graph. It shows the cost curves for a competitive firm. At output level 20, the marginal
cost is:
A. $0.60
B. $0.90
C.$1.05
(D)$1.25




18. Refer to the above graph. At which point is marginal product (MP) at its maximum?

{AZPoint A
B. Point B
C. Point C
D. Point D

MG ATC
AVC
MR
a a G

19. Refer to the above graph. It shows a profit-maximizing purely competitive firm operating in the short run.

Which area in the graph represents the amount of economic loss for the firm?

A. Obeg
¢ Bbede
C~ acdf
D. abef

Number of Units

of Commodity Total Utility
36

80
150
252

2E0

Wb T

440

O I O O B 2

20. Refer to the above table. What is the marginal utility of the fourth unit?

A.
D

— 00 JJm Lo

6
4
0
1

6



Part 1l 40%

1} [25 points}] A consumer who buys two goods X and Y with prices Px=4 and Py=2, the consumers income is
$18/month. Her consumption schedule is given below:

Q (XY Mux | Mux/Px MUy | MUy/Py i Mux/Px'

0

1 20 5 16 £ iD

2 6] U 14| F 3

3 12 2 12 A L

4 8 L 10] & ]

5 6 b Y Z

6 ] 6 3 Z.

I3 points] Calculate the MU per dollar for each good inthe in the table above show the formulas for

aj
o , yoxjr caiculatsens helow ) 0 5 { A/ _jc,(/av,,,. — /u 0o ~ (f .
i {,“ ’{;)(;T\/.n z”@{!{rg.‘:___ 4“”\/(‘ iv’:‘}{ f o ‘,Z(_J ” {:J [ Ls.)iig,( Qj - ;U ., L; --—--:-'5——-_«9 — Lz 3
;:, R = i) o - - L-‘ < | L-J Z
' ! L : oa <
(:ulftfb; o d/
h} [3 polnts] What are {State) the equilibrium conditions that must be sattsfled to get maximum utility \
S (LQL dollar 3P Shenid tiet bl e U for Coch ‘;Ge—'sd«
s s o
/ {‘Uﬁ\ - jut\"’ ._“._._—? (= _f_-(_i;_,,, z
i g ; P e ,,__' , '?
! ¥ ! o
L;{,Ivu{{‘ipttmx /( ,P
;' B < J\, VSN ' aa, B A f/{ {, t ( f/J ’I bﬂﬁ: é{,hf ) L‘U (_{‘{ L‘?h«ué/ } o g‘ 5 Cal Z oo
¢) [3 points] How many units of X and Y will she purchase to maximize utmty.'
A
- . /r \/f\./
({_‘ LA 4y y /)
‘- /
d) [2 points] Now suppose the price of X decreases to 2, complete the last column in the table above, find
the new combination(s) of X and ¥ that will maximize utility. ,/ j
- | / /

}j {%M 3 5 ]I{_: < t_,/f ?( ( , :‘_]K‘ //I

ia /on Vo /

"% P i "/\',ﬁ A b

L el % g.)-z )é “_, o w’}

e) [3 points] Show graphically the effect of the decrease in the price of X on the demand for Y based on

iy

your answer ahove. b




2) [10 points] A firm has the following production relation

L Q MP, AP,

0 0 @ o

1 45 W B 4h
2 02| s Z | 51

3 153 | 59 51

4 195 42 | 497
5 2220 24 1 44

6 20 | & 16

7 29| Q. | 35 K%
8 6| % | 36 {5

/o

{5 points] Calculate the Average and marginal product of labor in the table above write down the
formulas you use in the space provided below.

Ap - Pw""eo Lk poibput /
Elck i_’m ¥ i‘(,-\,Pm; (

a)

D{f‘(‘?‘(){(«(t \\.bpfté

C' {/Hu..ma i ((}.Zj’f" lv({‘)bv{:u

b) [5 points] if labor is the only variable input and Fixed costs are-100, the wage is 50, what is the variable
cost of producing 240 units. What is the average total cos},‘ t that point?

s

HO xB - SCo [/

SO0 4 (O = Yep 7
AT C = "‘i OOy

{f ',‘i‘ .
4 . !
ol ' /
\ /
N/ | p / x’ff
| /
! ! ,//
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PART TWO

1. If goods A and B have a cross elasticity of demand that is positive, this is evidence () that goods A

and B are goods.
a. complementary
substitute
c. normal
d. inferior

2. "As additional units of a variable input are added to a fixed input, eventuaily(s 5 2=3) the marginal
physical product of the variable input will decline.” This is a statement of the
a.  law of supply % '
b. average-marginal rule ¥ T
faw of diminishing marginal uttlity.
. law of diminishing marginal refurns.

3. At 100 units of output, total cost is $40,000 and total variable cost is $34,000. At 100 units of output,

what is the value of average total cost, average variable cost, and ﬂq@g@fx_}gﬁd__aast, respectively( i
Hslhy? AxC AV C <C
a.  $40; $34; $6 =400 UO =20
$400; $340; 360~
c. $740; 5340; 3400
d. $340; §740; 360

o. 5400, 3340 There s not cnough mformation provided to determine the average fixed cost.

4, The short-run industry supnly curve is the ' i w >
a. horizontal summation of the short-run supply curves for ali firms in the industry. X

b, vertical summation of the short-run supply curves for all firms in the industry. X

@ average of the short-run supply curves for all firms in the indnstry. v
d. same as that of the typical firm in the industry.

5. If the price of good A decreases by 10 percent and the quantity demanded of good B increases by 10

rcem‘, this is evidence that A and B are A \\j lov %
b.
c
d
£

substitute goods.
complement goods. \3 4\' Lo,
inferior goods.
normal goods.
~ not related.

6. If Jack bought 21 CIDs last year when his income was $18,000 and he buys 23 CDs this year when his

income is $20,000, then his income elasticity of demand is making CDs a(n)
: good for Jack.
a. +1.16; normal ) Q
- u o= Lan
b. -1.16; inferior CQ- N ,_;Z_%‘,,—é—l——— _

(> +0.86; normal 2z +Q A QOYSYS
d. +0.86; inferior D, - P - 'W O.0%2 ¢
e. -0.44; inferior ﬁ_ﬁ Z cococRosd

z2x 0y
5 (%@ o N L ) B
R . ‘ib



7. Price elasticity of supply registers(b=2) perfect inelasticity at the value of

infinity.
b. 1.4
c. 0.
d. -1.4

&. Suppose you just finished your third free pizza slice dinner and it yielded zero units of additional
satisfaction. Should you go back for more?

Why not? Since the third platefisl gave you zero units, the fourfh can't give you any less

than zero )X

No way. You could get negative utility from the fourth plateful.

Yes or no. It won't make any difference because your total ufility is at its peak. y

d. Yes. If youreceived zero units of satisfaction from the third, then obviously the law of

diminishing marginal utility is not working in this case.

4.

9. We would expect the total utility of diarnonds to be '(\ than the total utility of water and the

marginal ufiiity of diamonds to be than the marginal utility of water. V\
—‘-’

a. higher; higher.
@». lower; Tower 3 '

higher; lower L/

@ lower; higher 3 - MU\
: Cimp prortor morninetatilise mae Anllor fram cansumine ane enod than another 1

AN P L T TP PR
PRivioa BTSN noonTe

follows that he or she is
maximizing disutility ¢
b.. not praxenicing aiility.
@©> maximizing utility.
d. There is not enough information to answer the question.

11. if the average variable cost curvefailmg,

. (a.)) the MC curve must be below it -
b. marginal cost is greater than average variable cost. ¥
c. the MC curve is necessarily falling. yw ANC
d. the MC curve is necessarily horizontal (neither rising nor falling)s =
e.

the MC curve is necessarily rising

12 . Suppose a given marginal cost curve starts out downward sloping and at some peint turns upward.
The point at which it turns upward is the point at which
marginal physical product increases,
b total cost rises. ?
¢, average fixed cost declines. X _
@ average variable cost is below marginal cost.x
diminishing marginal returns set in.x




L
13. Suppose aproducer decides.dhat if the price of her product is §9, the quantity supplied will be 1,000
units, and if the price is $11, the guantity supplied will be 1,300. The price elasticity of supnly for the

ood is approximately
f +1 91;3}') Y oo - 1000
b 140, “locorBood = O15
o +0.77 -9 O
4 077, : AR

14. I explictt costs equal $4G;(r)$, implicit costs equal $95,000, and accounting profit equals $23,000, it
follows that total revenue\eq'n and economic profit equals .
a.  §75,000; $17,000

$63,000; -$72,000 . TR- QR

o $68,000; $25,000 ' _

d. $22,000;-$68,000 R AP -0

e. There is not enough information given to answer this question. 2 ge0- Y0~ Uooo o
TR L2000

15 If the LRATC curve is falling, then

a_ the law of dimninishing marginal returns is operating(UJe=s).
-economies of scale are present(sas2 5<).

c. constant returns to scale are present.

d. diseconomies of scale are present.

16 Feonomies of seale are said to exist when inputs are increased by some percentage and oufput

increases by a(n) percentage, causing unit costs to
% greater; fall \\J

~ smaliler; fail
greater; rise
smaller; rise
equal; fall

oo

17 . The price at which a perfectly competitive firm selis its product is determined by
a. the individual seller based on his costs of production and his profit margin. X

all sellers and buyers of the product, collectively. y\-'
the buyers of the product, because there are so many sellers that they cannot agree on a

price. ™~
@ the government, because there are so many buyers and sellers of the product that together

they cannot agree on the price.

%% The demand curve for a perfectly competitive firm

is downrward sloping. _ '
b, is upward sloping. - l
@ is perfectly horizontal.

is perfectly vertical.
e. may be downward or upward sloping, depending upen the type of product offered for sale.




=

19,

a.
b.
c..

€.

20.

a.
b.
€.

[=N

21,
average totat cost = $8, and average variable cost §5. Given this, total revenue is

a.
b.

.

132
The marginal cost curve cuts the  curve at it lowest point.

average variable cost
average total cost
average fixed cost
aandb

a, b,andc <
w
By
Marginal revenue is MW"& D

total revenue divided by the guantity of output.

total profif minus total costs.
the change in total output brought about by using an additionai unit of a variable inpu.

the change in total revenue brought about by selling an additional unit of the good.
the change In tota! revenue minus the change in total costs.
Brice = 1O

Consider the following data: equilibrium price = $10, quantity of outpuf produced = 1,000 units,
, total cost is

, and fixed cost is )

$6,000; £8,000; $1,000

$9,000; $7,000; $&,000 by
$10,000; $8,000; $3,000,~ ok Raverne = P X B
$9,000; $8,000; $6,000
none of the above

Avasiarad cosk =¥3
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PART TWQO

ASC - 'Wc

NTC A@&#NC

QUESTION ONE (8 POINTS) AC = _I_.L-

Total Total Cost Average Fixed Cost Average Variable Cost | Marginal Cost

a- Cornpletathe fellowing table..

Grad Co“:‘t'ﬁé’d
yostadle cast Product

zen |0 60 _ 7 -
U 1 104 (e yu q4 7
A 12 144 20 / Uz “q07

o 13 160 >~/ 223 V&

oo L4 [210 [ / 3.5 g0 |

/ / S

QUESTION ONE (15 POINTS)

The table below shows the marginal ufilit /y‘,derwed from consuming goods A and B for a
consumer. The price of both goods 1§ $1 per unit and the income of the consumer is $1 1.

| Good A Good B 4 U per detlas
Unifs MUA. {4 o \Z\ﬁ units MUA MU per el & pef
i @ | ?1?2% 1% 1 16 |- le e %)
2 9 q Q 2 14+ ty  mp AT
3 (&_.%‘ 3 12 12 /2 (€)
4 7 1 4 o) (5
5 _®© |© | © | 5 ® 1® a0
6 5 S s) S & 1 7 2 2
7 S T T 7 ONIOENTFEY

a- Find all comblnatlons that satisfy first conchtlon of ytility maximization

Mu-AD C\md “U#(aﬁxeﬂé & tusik ard q_u;&s of B = Y +Mi S
plice of A plice of R, 3 L Sxl=

= Bl A& - 1)

qm&?} ond 1 usuﬁasmt— 1L 29 IR

b- How many units of good A and B, should/be/purchased to maximize utility. )
Pe Secemd tondibkon rs Mal 8l miowd st be 5?@4& <o B’u.»u&_'s ot

A oond buats oL b d ‘oo Pu!’dna%gc} e o i e "&C\““j
57(\*«6{(1 =\

Y
A B

- ¢~ What is the consumer total utility from consuming the equilibrium utility maximizing

combination.

SW S o = 6"?1—\-2"?(:( + 1O =40 UhLS
(:'C:m CC@ :ww!\% GLL:J(}: & B & *@%\D—%'\ZHQHS bl
[ 40N 148

Lial uklty = UO + 66 = E/(j/uh\

/



d- Assume that the price of good B increased o $2 per unit, while the price of good A
remain at $1 per unit and consumers income 13 $11. What is the new equilibrium

combination of both goods. £ .
A new equilblaive

, el e
new MU fperdolol o &MU per dellace udaot B +3uwidselh = 140 « 2= S
e o B & W ek B X2 « Wi ¥

E e/ (%) R
7 g (D) — @g” e e oF B 2257 % S¥1= D
3 12/2 = (&) G ke oF &40 ulds of A = UxZ * 6Xi ?.,;u‘

< ks ofF 2 fl—uf-lv's Bpp’,\,;—gﬁg;{’—}x\: 1

- 2 o Buidsck B« Sudsd b weriaize L

- QUESTION THREE(15 POINTS)

The following table indicated the total revenue and total cost for a purely competitive.

ouiput | Total Revenue |  Total Cost MR MC
I Sl -

v o 4. 50 — o mse |
! 40 4 74 < Yo 24 |
2 80 4 94d TS v
3 120 > 1174 40 24
4 160 5 1427 U5 “25
5 [ 200 ;> 172 P 20

Use the marginal approach (MR and MC) to determine the rate of output that firm should

produce to maximize its profit.

- The rate of output = 5 S
- Total Profits =2 g/:é’cqj el — bobad cotke = 2o \¥2 = 2%

- The price = 4

. - bodpd
osfgeal cost = LT R
&7
Tdeal teremue = Plice XO(&M(—-:) N7
ZoO = Pliw xag g &U}"
plite = YO /\3/)

Tobd pickit = qoeshy (price— 4
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Read ea(iz quesﬁo;@ carejz:!/y and Seleci the best response, (ircle the appropriate letter of 1he response and fill in the
corresponding circle on your answer sheei.

1. Which is an explanation for why the demand curve is down sioping‘?
/(?x) normal goods
- the law of diminishing marginal utility
{C) the law of increasing spportunity cost
(D} the law of supnly

(E) The law of dimmidhing maiginal returns JE—
st R
he costof a vanable mpu’t such as the wage paid to workers, rises. This change shifts the
/ A)_Average fixéd cost curve upwardy

’@kverage variable cost upward P
) Average total cost downwardsx<. . —
ND) All of the above

{E) Only b and ¢ are trug <

3. _The marginal rate of substitution {MRS) yields
/ {A) The freauency with which a player can be substituted into a game. :
@The rate an individual is willing to trade {Jay one unit of x for one unit of y remaining at the same utility level.
(C} The rate an individual is willing to trade one unit of x for one unit of y remaining at the same income level.
{D) The slope of the budget line.

(E) Isthe rglatu/gnsh;p between the price of the good and the guantity the individuat desires at that price
W e

Eppss =/ QL 445 j Ao
If the quanfyw demanded of good A @ bl 5% when’tﬁe drice of good B @E@uy 3%, then
/{A} A and B are substitute goods @f\ and B are complerent goods
{C} Aand B are mfengg goods (DY A and;ﬂcare nermal goods

onsumer’s budget line shows '
/ﬁ: The utility that an individual would receive from consurmning various combinations of two goods,
i The combinations of two products a consumer can purchase with a specific money income.
‘) The combinations of two products a consumer can puichase that give the same level of utility.
(D) How income is influenced (4 by prices of goods.
{E) How changes in income affect utility.
6. I a producing firm does not have enough time to expand its plant capacity, it is:
(A) Bankrupt (4wl oleg, oL @Operating in the Short Fun.
{C) Operating in the long run. DLLcasmﬁ money
T?Mé:w Danic M l?rz,»/( o '
7. Jessica experienced an @ln her inconie byf10% this year in the same year, lessica's quantity demanded of milk
ﬂcreased by 10% and her quantity demanded for bread increased by 5%. This means that for Jessica:
4B} Both milk and bread are normal goods fnde Vin —> &
(B) Millis a normal good, but bread is an inferfor good 3. /L] > otrrnl .
{C) Both millk and bread are inferior goods b " ! .) ¥
{D} Milkdis an inferior good, but bread is @ normal good
{E) Milk and bread are substitutes goods

I3

8. When the total utility from consuming one good is maxiwized, marginal utility is

/@) Zero. {B) Minimized.

{C) Maximized. {0} Positive,




@ The mntég&"c of diminishing marginal wiility is that increases in the corcumption of o good lead to
{8} A decrease in total utility.
(B} Anincrease inmarginal utiity.
A decrease in marginal utility.
)

No change in marginal utility. v SR ‘i'/éf‘f:' (f/
(E) Mo change in total utility. L- T¢ Lk- } r “'::L_
1' -3 4. VT 50 :

verage product of 12 workers is:
5 (8148 {c) 54 (D) 60 {145 Aona” é =2 15
sels Lo DV”
11. Suppose that a consumer’s annual incoma creased by $300, causing a 15% decrease in the uniis of focd the
oA consumer demands. If the consumer has income elastitity 7poiat elasticity) of demand of 1 for food, what is her new
income? ; 7 PrsY
{A) 52700 {B) $3000. $1700 (D) 53300. “(E) 32'%00 _
. %Cg‘"("”’ ‘ ﬁflﬂc joni AVC_ 25 _
. With fixed costs of 5400, a firm has ayerage total costs of $3 and average variable costs of $2.50. its output is:
W- (A} 200 units {B) 400 units ’OO units (D} 1,660 units {E} 160 units

/ 11 workers can produce a total of Sél units of a product and another worker has a2 maiginal pr oduct of six, 1hen the
a

13, Refer to the Figure. The average variable cost at an output level of 7 unitsis: T
o M *
e q T AT 21000
4100 e s See
{D)y 1200 /««AV{, Ve Fs o
209 5 ’ao
14. i wmarginal cost is below average total cost average total cost wili

o .
{A) Be maximized. @)be'decreasing I_@ i‘ kKt ;

{C} Be increasing. {[}} Remain constant. {Aar( > N

15, If fixed cost is $130 at quantity {Q) = 100, then
/(A} Fixed cost is 50 at Q=0 {8} Fived cost is $260 at (= 200
{C)Fixed cost is less than 51302t Q=0 @Fixed cost is 5130 at Q = 200

G ML -
the income elasticity of demand for chocelate candies i, what percentage change in income is necessary to
e the amount of chocolate candies demanded by 12%? g f 04T s s

AT Increase income by 15%.,~ . {B) Decraase income by 9.6%. K
;ﬂquc Increase income by 9.6%. /Decrease incormne by 15%..~ _
%—m . lagh'c DPC I
~If the price elasticity of supoly for‘?’ gg?d 15 then meflefd)\ Q Fe X ol . tins ) < @
AA ) An increase in the price boosts (2 3) the quantity supplied by a larger percentage — ’)\ ‘glef}" AF> ﬁ@

AB} The supply is elas’m:K
The percentage change in the quantity supplied is less ihan the percentage change in price.
@ A 10 percent increase in price will decrease quantity supplied by 0.5 parcent
{E} Mone of the above answers are correct.
s X
isumer has spent alt of his funds on hamburgers and movies. The price of a ha mburger is 53 and the price of a

vie (1) is 55, The marginal utility of the last hamburger is 6 and the marginal utility of the last movie is 8. This
consumer has

{A} Maximized utility. 7.5 zQ X g; F } €

{BY Not maximized utility. To maxsmsze utility, he should spend all income on movigy

@ Not maximized utility. To maximize utility, be should cut back on movies and buy more hamburgers.
(D) Mot maximized utitity. To maximize utility, he should cut back on hamburgers and buy mora movies.
()} Not maximized utility. To maximize utility, he shouid cut back consumption of each.
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efer to the Figure I the market price of the goed is 53, consumer surplus will y, > -
/quai D(“-' 2 z m/‘/}‘ .
{A) §30 - CS = 3, ANy
' (B} $40 p S b
(0 sas | L T\&, -
w20 A
%{26 The law of diminishing marginal returns states that as additional units of a variable input are added to
{A) Fixed amounts of other inputs, total output will eventually declingy’ _ : S o .
' ] Varying amounts of other inputs, total output will eventually decling? ' ' : . /Vif\};
v/% Fixed amounts of other inputs, the resulting increases in total output will eventually become smaller. 7Y

Varving amount of other inputs, the resulting increases in total output will eventually become sinaller,
m A declining amount of outout, technology will evengzlally deterioraie { i),

1

PART TWO: Short Answer

Questlon i1 (20 marks)

i The set of lines above reflect information about the cost structure of a firm. Use the ﬂgure to answer the following

questions. (2mark each)

[

. Which of the lines is most likely to represent average toval cost? ‘Q/

P ‘)‘/

. Which of the lines is most likely to represent margiani cost? Qﬁ . e

3. Which of the lines is most likely to reprasent average fived cost? &
4. Which of the lines is most likely to represent average variable cost? &{f

Pt




{hugasiing | {f;sf%a;{ch /1/] [/\‘M g ) (' P/ S )
per/Mi

| Quantity of f\f’iammal Ouantity of | Marginal !viu per
hamburgers | Utility of Magazine Utility of dollar off/i dollar o@»
hamburger Magazine | hamburger | Magazine
] 1 50 1 200 Yo/ 204 v £ Y4
: 20 : 00 | 2| B
3 12 3 50 ES - L7 g
4 10 4 30 B B
5 6 5 15 & D
6 2 6 5 “ Dy ‘\, D

i |
- /0 vad/s
Table above shows Kareem'’s utility ﬁom hamburger and Magazire. T, he price of hamburger is §2 52 per unit and the
. price of a Magazine is 85. Kaveem has §26 io spend on these iwo gaods =

ez

o

/ nu in the blank in the ahove table { Smarks) =
h. Find all combinations that satisfy the utility maimization condition, and calculate the cost of each

combination. (Smarks) : _ . ._ L] .
73 BTN MU pr Ll ] 1% cun '%& e L
. - _ | “ihd;

p | PeE 2o /2K2+ 2X5 < \%}@/}usfwy

(2 4 Yyg = ?_é

Zg_)@ o3 [msl <

c.  Which combination {group) is a utility maximization for Kareemn? ( 3marks) /_—\l
A B o= Pty ? Lm!l aJ Masids v - ) > ilias: " ; .
. - o ; ﬂ\"';’;a ’1?"( ) 5’30"%?{( pi// Iivv 4

d. What total utiiity will Karem realize? ( Smiar '9)

%/ 5 hr%"’g'} (h’;;&.., 4 UWAV Hé“ﬂbif{j‘l//

=, = W = 5 /h”/)%—-

~Tekd wh Wl <lozy 2% Hf?l an oei_u)

a. Suppose that income is increased from 526 to $35, what quantities of hamburgér and Magazine will Kareem - Lo
purchase to raaximize utility? ( Imarks) :

\ot __E‘Vl Cors ’I;h"M’J-f




t. Calculate the incomes elasticity of demand fof hamburggr when income increases from $26 to $35. { Smarks)

5 | «é@l ~@) Iﬁ'f@- S 3’% 26435
- ok dendilh 5 CP;«’{»G?@% B geaf
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Duestion 43 (10 nsorks)

- Using the following table o answer the questions below:

Labor Total Product | Average Product | Marginal Product
{Output) ﬁ }D) (ﬁ /”’
1 20
2 -5 ¥ 24 zg
3 F¥ 75 20
4 104 ne 28 ‘
g Ry Wb iz . \?g,ﬁ(‘f‘ [eiq

o o XN ]2
1. what is the total product {TP) whan 2 workers are employed? (2 marks)

/ e Lo 2 Fhew ﬁ?ﬁ %

pp-JE = JHz2kx2

2. What are the total product {TP) and the average pmduct (AP} when 3 workers are emploved? (4 marks)

@w"dm L——/ @M jgﬁ

L KWy 2e
mez PTk @Jwﬂ*"\f@%"%” =

P
- ;L L2 = ﬂm?y
AT g
3. ‘What are the average product (AP} and the marginal profluct (MP) when 4 workers are employed? (4 marls)
e e )
{em~d 5 28
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Read ea(iz quesﬁo;@ carejz:!/y and Seleci the best response, (ircle the appropriate letter of 1he response and fill in the
corresponding circle on your answer sheei.

1. Which is an explanation for why the demand curve is down sioping‘?
/(?x) normal goods
- the law of diminishing marginal utility
{C) the law of increasing spportunity cost
(D} the law of supnly

(E) The law of dimmidhing maiginal returns JE—
st R
he costof a vanable mpu’t such as the wage paid to workers, rises. This change shifts the
/ A)_Average fixéd cost curve upwardy

’@kverage variable cost upward P
) Average total cost downwardsx<. . —
ND) All of the above

{E) Only b and ¢ are trug <

3. _The marginal rate of substitution {MRS) yields
/ {A) The freauency with which a player can be substituted into a game. :
@The rate an individual is willing to trade {Jay one unit of x for one unit of y remaining at the same utility level.
(C} The rate an individual is willing to trade one unit of x for one unit of y remaining at the same income level.
{D) The slope of the budget line.

(E) Isthe rglatu/gnsh;p between the price of the good and the guantity the individuat desires at that price
W e

Eppss =/ QL 445 j Ao
If the quanfyw demanded of good A @ bl 5% when’tﬁe drice of good B @E@uy 3%, then
/{A} A and B are substitute goods @f\ and B are complerent goods
{C} Aand B are mfengg goods (DY A and;ﬂcare nermal goods

onsumer’s budget line shows '
/ﬁ: The utility that an individual would receive from consurmning various combinations of two goods,
i The combinations of two products a consumer can purchase with a specific money income.
‘) The combinations of two products a consumer can puichase that give the same level of utility.
(D) How income is influenced (4 by prices of goods.
{E) How changes in income affect utility.
6. I a producing firm does not have enough time to expand its plant capacity, it is:
(A) Bankrupt (4wl oleg, oL @Operating in the Short Fun.
{C) Operating in the long run. DLLcasmﬁ money
T?Mé:w Danic M l?rz,»/( o '
7. Jessica experienced an @ln her inconie byf10% this year in the same year, lessica's quantity demanded of milk
ﬂcreased by 10% and her quantity demanded for bread increased by 5%. This means that for Jessica:
4B} Both milk and bread are normal goods fnde Vin —> &
(B) Millis a normal good, but bread is an inferfor good 3. /L] > otrrnl .
{C) Both millk and bread are inferior goods b " ! .) ¥
{D} Milkdis an inferior good, but bread is @ normal good
{E) Milk and bread are substitutes goods

I3

8. When the total utility from consuming one good is maxiwized, marginal utility is

/@) Zero. {B) Minimized.

{C) Maximized. {0} Positive,




@ The mntég&"c of diminishing marginal wiility is that increases in the corcumption of o good lead to
{8} A decrease in total utility.
(B} Anincrease inmarginal utiity.
A decrease in marginal utility.
)

No change in marginal utility. v SR ‘i'/éf‘f:' (f/
(E) Mo change in total utility. L- T¢ Lk- } r “'::L_
1' -3 4. VT 50 :

verage product of 12 workers is:
5 (8148 {c) 54 (D) 60 {145 Aona” é =2 15
sels Lo DV”
11. Suppose that a consumer’s annual incoma creased by $300, causing a 15% decrease in the uniis of focd the
oA consumer demands. If the consumer has income elastitity 7poiat elasticity) of demand of 1 for food, what is her new
income? ; 7 PrsY
{A) 52700 {B) $3000. $1700 (D) 53300. “(E) 32'%00 _
. %Cg‘"("”’ ‘ ﬁflﬂc joni AVC_ 25 _
. With fixed costs of 5400, a firm has ayerage total costs of $3 and average variable costs of $2.50. its output is:
W- (A} 200 units {B) 400 units ’OO units (D} 1,660 units {E} 160 units

/ 11 workers can produce a total of Sél units of a product and another worker has a2 maiginal pr oduct of six, 1hen the
a

13, Refer to the Figure. The average variable cost at an output level of 7 unitsis: T
o M *
e q T AT 21000
4100 e s See
{D)y 1200 /««AV{, Ve Fs o
209 5 ’ao
14. i wmarginal cost is below average total cost average total cost wili

o .
{A) Be maximized. @)be'decreasing I_@ i‘ kKt ;

{C} Be increasing. {[}} Remain constant. {Aar( > N

15, If fixed cost is $130 at quantity {Q) = 100, then
/(A} Fixed cost is 50 at Q=0 {8} Fived cost is $260 at (= 200
{C)Fixed cost is less than 51302t Q=0 @Fixed cost is 5130 at Q = 200

G ML -
the income elasticity of demand for chocelate candies i, what percentage change in income is necessary to
e the amount of chocolate candies demanded by 12%? g f 04T s s

AT Increase income by 15%.,~ . {B) Decraase income by 9.6%. K
;ﬂquc Increase income by 9.6%. /Decrease incormne by 15%..~ _
%—m . lagh'c DPC I
~If the price elasticity of supoly for‘?’ gg?d 15 then meflefd)\ Q Fe X ol . tins ) < @
AA ) An increase in the price boosts (2 3) the quantity supplied by a larger percentage — ’)\ ‘glef}" AF> ﬁ@

AB} The supply is elas’m:K
The percentage change in the quantity supplied is less ihan the percentage change in price.
@ A 10 percent increase in price will decrease quantity supplied by 0.5 parcent
{E} Mone of the above answers are correct.
s X
isumer has spent alt of his funds on hamburgers and movies. The price of a ha mburger is 53 and the price of a

vie (1) is 55, The marginal utility of the last hamburger is 6 and the marginal utility of the last movie is 8. This
consumer has

{A} Maximized utility. 7.5 zQ X g; F } €

{BY Not maximized utility. To maxsmsze utility, he should spend all income on movigy

@ Not maximized utility. To maximize utility, be should cut back on movies and buy more hamburgers.
(D) Mot maximized utitity. To maximize utility, he should cut back on hamburgers and buy mora movies.
()} Not maximized utility. To maximize utility, he shouid cut back consumption of each.
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efer to the Figure I the market price of the goed is 53, consumer surplus will y, > -
/quai D(“-' 2 z m/‘/}‘ .
{A) §30 - CS = 3, ANy
' (B} $40 p S b
(0 sas | L T\&, -
w20 A
%{26 The law of diminishing marginal returns states that as additional units of a variable input are added to
{A) Fixed amounts of other inputs, total output will eventually declingy’ _ : S o .
' ] Varying amounts of other inputs, total output will eventually decling? ' ' : . /Vif\};
v/% Fixed amounts of other inputs, the resulting increases in total output will eventually become smaller. 7Y

Varving amount of other inputs, the resulting increases in total output will eventually become sinaller,
m A declining amount of outout, technology will evengzlally deterioraie { i),

1

PART TWO: Short Answer

Questlon i1 (20 marks)

i The set of lines above reflect information about the cost structure of a firm. Use the ﬂgure to answer the following

questions. (2mark each)

[

. Which of the lines is most likely to represent average toval cost? ‘Q/

P ‘)‘/

. Which of the lines is most likely to represent margiani cost? Qﬁ . e

3. Which of the lines is most likely to reprasent average fived cost? &
4. Which of the lines is most likely to represent average variable cost? &{f

Pt




{hugasiing | {f;sf%a;{ch /1/] [/\‘M g ) (' P/ S )
per/Mi

| Quantity of f\f’iammal Ouantity of | Marginal !viu per
hamburgers | Utility of Magazine Utility of dollar off/i dollar o@»
hamburger Magazine | hamburger | Magazine
] 1 50 1 200 Yo/ 204 v £ Y4
: 20 : 00 | 2| B
3 12 3 50 ES - L7 g
4 10 4 30 B B
5 6 5 15 & D
6 2 6 5 “ Dy ‘\, D

i |
- /0 vad/s
Table above shows Kareem'’s utility ﬁom hamburger and Magazire. T, he price of hamburger is §2 52 per unit and the
. price of a Magazine is 85. Kaveem has §26 io spend on these iwo gaods =

ez

o

/ nu in the blank in the ahove table { Smarks) =
h. Find all combinations that satisfy the utility maimization condition, and calculate the cost of each

combination. (Smarks) : _ . ._ L] .
73 BTN MU pr Ll ] 1% cun '%& e L
. - _ | “ihd;

p | PeE 2o /2K2+ 2X5 < \%}@/}usfwy

(2 4 Yyg = ?_é

Zg_)@ o3 [msl <

c.  Which combination {group) is a utility maximization for Kareemn? ( 3marks) /_—\l
A B o= Pty ? Lm!l aJ Masids v - ) > ilias: " ; .
. - o ; ﬂ\"';’;a ’1?"( ) 5’30"%?{( pi// Iivv 4

d. What total utiiity will Karem realize? ( Smiar '9)

%/ 5 hr%"’g'} (h’;;&.., 4 UWAV Hé“ﬂbif{j‘l//

=, = W = 5 /h”/)%—-

~Tekd wh Wl <lozy 2% Hf?l an oei_u)

a. Suppose that income is increased from 526 to $35, what quantities of hamburgér and Magazine will Kareem - Lo
purchase to raaximize utility? ( Imarks) :

\ot __E‘Vl Cors ’I;h"M’J-f




t. Calculate the incomes elasticity of demand fof hamburggr when income increases from $26 to $35. { Smarks)
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Duestion 43 (10 nsorks)

- Using the following table o answer the questions below:

Labor Total Product | Average Product | Marginal Product
{Output) ﬁ }D) (ﬁ /”’
1 20
2 -5 ¥ 24 zg
3 F¥ 75 20
4 104 ne 28 ‘
g Ry Wb iz . \?g,ﬁ(‘f‘ [eiq

o o XN ]2
1. what is the total product {TP) whan 2 workers are employed? (2 marks)

/ e Lo 2 Fhew ﬁ?ﬁ %

pp-JE = JHz2kx2

2. What are the total product {TP) and the average pmduct (AP} when 3 workers are emploved? (4 marks)

@w"dm L——/ @M jgﬁ

L KWy 2e
mez PTk @Jwﬂ*"\f@%"%” =

P
- ;L L2 = ﬂm?y
AT g
3. ‘What are the average product (AP} and the marginal profluct (MP) when 4 workers are employed? (4 marls)
e e )
{em~d 5 28
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Multiple Choices Questions;
Choose the one alternative that best completes the statement or answers the question.

1. {fthe quantity demanded of tea increases by 2% when the price of coffee increases by 6%, the cross-price elasticity
of demand between tea and coffee is

(A) -3 0=t %’
{By 0.33 ,r/\/;z:’%
(C) 3 i

{D) 12

2. For Matthew, the marginal utility of the Sth soda in a day is posmve and the marginal utility of the 10th sodaina
/ day is zero, This —
(A} implies that (I i) Matthew s demand curve for sodas per day will become upward sloping at 10 sodas per
day :
(B} Is impossible because each additional unit of consumption of any good must provide positive marginal utility.
{C) implies that at a zero price Matthew's demand curve will intersect {adsi) the quantity axis at 10.
@,tmphes that Matthew maximizes utility by consuming 9 sodas per day.

3. Thelawof diminishing marginal utility implies that
@). demand curves always slope downward and to the right.
{B) supply curves always slope upward and to the right.
{C} a consumer will always buy positive amounts of all goods.
{D) total utility will always increase by an increasing amount as consumption {52 increases.

7 4, The diamond/water paradox (1.aflw) states that things with the ) value in use (pldiu¥ Aad) frequently
4 have value in exchange {Ja\al 4.8),

{A} least; the least

{B} jeast; little or no

{C} greatest; littie or no
@ greatest; the greatest

For normal goods, the substitution and income effects of a price decrease will

[AY both decrease the quantity of the good demanded.

(B) both increase the quantity of the good demanded.
the substitution effect will increase the quantity of the good demanded while (=i} the income gffect will
decrease the quantity of the good demanded.

{D} the substitution effect will decrease the quantity of the good demanded while the income effect will
increase the quantity of the good demanded. <

6. Inthe short run, a firm
has at Jeast one. fixed factor of production.
(B} can enter an industry {f=tuali Y 533 where positive profits are being earned.
{C) can exit an industry and all of its factors of production are variable,
(D} both (B} and (C} are correct.

7. Economic costs
/ @ Include (=) both a normal rate of return on mvestment {Normal Proﬂt) and the opportunity cost of each
i factor of production, - T
(B) are equal to the direct costs of hirmg {25 all factors of production.
{C}) arethe opportum‘c\/ cost of each factor of productlon minus any mterest charges paid on borrowed funds,
(D) are equal to total revenue minusiaccounting profit.




Refer to the information provided In Figure 7.3 below to answer the guestions 8, and 9.

Fizure 7.3
at
2z
835
TE
iz
E =
3E
Z 10
0T L
Number of emplovees
8. Refer to Figure 7.3. The marginal product of the second worker is yards raked.
(A) 2
gB) 135
17
(D) 27
9. Refer to Figure 7.3. The average product of the second worker is yards raked.
(A) 4
13.5
€) 14
(D} 27
10, Jallal is consuming X and Y so that he is spending his entire income {41as JaS} and — =83 d —— =4, To

maximize utility, he should consume

(A} the same amount of X and Y since he is already maximizing utility.
(B) lessofbothXandY.

{C) more Xand lessY.

{D} less X and more V.

11. Shireen is maximizing her utility. Her M—;j}% =10 and MUy = 40. Then the price of Y must be
{A) s1

G
{C) s10
(D) $40

12. The-marginal-products of the frrst second and third workers are 20, 12, and 8, respectively {0 =), If four
workers can produce 45 units of output, then the marginal product of the fourth worker is
A} 4 '
@ 5. 3 “o
{C) 40 4 =471
(D) 45

13. At the tarson Bakery (<) the marginal products of the first, second, and third salesclerks are 20, 17; and 11
customers served, respectively. The total product (number of customers served) of the three salesclerks is
{A) 12
{B) 40
(C) 46

48




{A} labor's marginal product is constant ©

@ labor's marginal product decreases after a certain point.

(C) total product is negative.

{D} total product is negative after a certain point has been reached ~

/4 if labor is a variable input in production, the taw of diminishing marginal returns xmphes that in the short run

. When total product is maximized, marginal product :
{A} and average product are zero. ‘
{B} is positive but average product Is zero.

{C) is zero but average product is positive.
@ and average product are positive.

16. The Lawn Ranger, a landscaping company, has total costs of $5,000 and total fixed costs of $3,000. The Lawn
Ranger's total variable costs are

&P $2000
(B) $3,000
{C) $5,000.

{D) indeterminate because the firm's output level is not known.

17. In the short run when the marginal product of labor , the marginal cost of an additiona! unit of output

{A) rises; rises
(B} falls; falls
rises; falls
(D) falls; doesn't change

18. Inthe short run, as output increases,

{A) the difference between average total cost and average variable cost decreases.
(B) the difference between total cost and average variable cost decreases.
@‘: marginal cost eventually decreases.

0% All of the above are correct.

. Diminishing marginal returns implies

(A) decreasing average variable costs.

{B} decreasing marginal costs.
@increasing marginal costs.

{D} decreasing average fixed costs,

20. Marginal cost Is average variable cost when
(94.1 equal to; average total cost is minimized:

“P8) less than; total tost ismaximized

G, greater than; average fixed cost is minimized

DD equal to; average variable cost is minimized.




E
{
|
}

Question #1

a.

Write down the formula for meaning the pnce elasticity of supply

C{’fz_» S v -

e W(’ww m u/%
YA \,ﬁu

b Suppose the price of Apples goes up from $19‘,19“§_12‘a box. Ahmad farms supplies 2000 boxes of Apples

instead {C» Y} cil}QQ\boxes Compute the coefficient (%8} of price elasticity “mldpomts approach” for
Ahmad's supply. Is its supply elastic or it inelastic?

LG o .:'.'.::'.:f'Z::::::::::::'.:::::::::::::::.'::_':::::::.:::
(j"\x@c'q ’ "'?"‘"’"‘

Question #2

- 7 ég’mﬁ Jé '777;:4 Sor 57_?
Q"‘If}ng\ C»ﬂ[]/:/{ #he.imféc

/u

o. ?ca }'
/ The following table gives total output or total product as a function of labor unit used ) {/ i
Number of labor Total product (output) | Average product of labor {U‘ l

0 . 0 — !
1, 8 ¢ ! g

i 2 15 75 P !\ TN

y 3 21 + \\

] 4 26 by 5

>l

5 30 & [———

a.

A2

Calculate the average productivity of labor from the information given in the above table

Define the law of diminishing retur s

N

\N/\'wvb RV TR in B baVila. »Pcv’ akustos N ehor )QA% s

ﬁs:;/é:v’otaip, \(‘”’*M ML o mqla/(ef/t/»eﬁv} 2.

Does the table indicate {_»3) a situation of dlmmlshmg returns? Explain your answer

o Becanye B da¥le gmen o Acols floduag Meoe

i\bu\tj’; Av_e//%,ﬁ-— 9“09/\”“/@3 @)]B (m/’?av”{/’a, e, WQ’ Sk @ﬁ&"l‘f A

a0y
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Question #3

A firm's cost curves are given in the foliowing table:

Total product {Q) | Variable cost Total cost AVC ATC MC
g 0 50 —— —— —
Yo o o 1 LY 65 15 ks T
’{'Q 7 é 2 ‘L[ J4 1% 38 0
3 gt N lor 37 -~ 27 - P
4 367 247 /%/ 25 8
> Yo 5 Ao 5 A8 4
X9 a g g X=Bleg 55 5 X-qt = ¥
a. Completethetable ~ 9 -« ’ >t - § r'——‘—**w;( 5 b5 ¥ Xs 94

/ Graph { ) AVC, ATC and MC on the same graph {Les Il il ), what is the relationship between the MP
curve and AVC curve

LRV I ST T S
Thebascan s e %{NLA’/Q \'C{M_f}km} I

Question #4

Assume that Jamil has 520 to spend on good X and good Y, the price of X is $2 while price of Y is $4. Jamil’s preferences
for X and Y are summarized in the following table:

Unitof X | Total utility | MUX v\ Unitsof Y | Total utility MUY e fls
of X ”’é’&/ A~ of Y P 0{“@‘%
1 20 o | (J9) 1 48 v Ay~
2 36 \6 Qf:@ 2 88 | Us [ )%
3. .50 oA glep 4] 3 124 24 - 9
4 62 {7 ¢SHIO 156 77 .| @,
5 72 lo ) 5 180 R
6 80 4 S IG 192 L (3>
7 86 //5 qe(h 7 200 [} Q

a. Fillin the table for marginat utility for both X and ¥
b. Are these preferences consistent (54 with the iaw of diminishing marginal utility? Explain briefly { 3t} dujfa )

A Ubl\v\v%. kv ekt AN o




€. What quantities of good X and good Y will maximize Jamil’s level of satisfaction {utility)?

Ran a.‘\_‘*-fc}v;‘ g};%ﬂ' 20
| gi‘ﬁ N 6 Iu{m—*s‘ ,(c\o@f/(‘
' 1ok x au.’/ /" \}élﬂ &b 0{(\\‘.: ﬂef

o iion Aol somtich e becavy o dnee vt fetchbor 0K 2o
Ry N Ny T ] gwf. AM AT e
Nrthere u«%a@x f—‘rf'wé«eﬁ% A & LT el AV S

e. Draw (p«_} the budget line and identify its slope

...-.u-i.é’:..., - .g....... B A P T LTI
f. Now suppose that the price of Y falls to 52, what guantities of good

satisfaction {utility)?

. aaizc rL OJ...,; [, %x Ay 5
,"ﬂgﬂ A %ﬁ

7 A af e [y ‘(WMQ

~ e —o 2 WL[S
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Question # 1: Multinie Choless.

“hoose the one alternative that best campletes the statement or answers the guestion,

1. The income e:asticity of demand for education {lll} is 3.5. Thus, a 4% increase in income will WOz 35
(A} decrease the quantity of education demanded by 3.5% E i ’G"- ’
{8) decrease the quantity of education demanded by 14% _ \W

(€] increase the guantity of education demanded by 4%
increase the quantity of education demanded by 14%

/
2. If the quantity demanded of peanut butter {M\{\%Je_,}) increases by 4% when the price of jelly decreases by 2%, the
cross-price elasticity of demand between peanut butter and jelly is

(A) -4 Q Y N
@2 Cap= 28— =\-2\
(C) -0.5 y

o) 2

MUy
Y 210.To maximize
Py

4} 3. Ramiis consuming X and Y so that he is spending his entire [J.iS) income and %E =6 ,and —=

utility, he should

{A) continue to consume the same amount of X and ¥ since he is already maximizing utility
(B} consume lessofbothXand ¥

{C} consume more X and less Y
consume less X and moie ¥V

MUx MUy
4, if o < Py , then

{A} spending a dollar less on ¥ and a dollar more on X increases utility «

B})spending a dollar tess on X and a deollar mora on ¥ increases utility

{C} Xismore expensivethan Y

{D} Y is more expensiva than X «

,# 5. The marginal utility of the first cup of coffee that Tamer drinks in the morning is worth $2.00. The marginai utility
of the 9th cup of coffee he drinks is MM‘W _m_ciginafw the 10th cup Of coffee he drinks in the

maerning is worth SO This impties that at a price of 53, Tamer would drink O NU 2 7

(A} zero cups of coffee per morning £ )
Pyat most 10 cups of coffee per morning /UU ze.ro V4
{C}) more than 10 cups of coffee per morning, but the actual number is indeterminate from this information
)

(D) an infinite number of cups of coffee each morning

The law of diminishing marginal utility refers to
(A} a consumer's decrease in total satisfaction as she consumes more units of a good &<
a consumer's decrease in additional satisfaction as she consumes more and more units.of a good

{Cy “the idea that total utility is negative ¢
{D} the idea that marginal utility is negative «

[

7. Arisein the price of Pepsi that causes a househcid to shift its purchasing pattern toward {slaily Dyt Ll pag)
Coke and away from Pepsi is the effect of a price change.
{A} income
@ substitution
{C) complementary
(D} diminishing marginal utility



8. Inthelongrun,
A} a firm can shut down, but it cannot exit the industry
(B} there are no fixed factors of production '
(C]) a firm can vary (s all inputs, but it cannot change the mix of inputs it uses
(D} all firms must make aconomic profits

Refer to the informaiion provided in Figure 1.1 belowy to answer the questions 8, gnd 10,

Figure 1.1

Muerber of e

8. Refar to Figure 1.1 .The marginal product of the second worker is lawns moved.
{A) 3
(8) 5

(s

D) 11

10, Refer to Figure 1.1. The average product of the second worker is _ lawns moved,

& ror T T

11. f marginal product is greater than average product, then JHJ%,D /90

(A average product must be decreasing < ¢ W .M'
marginal product must be decreasing : Y
: Ay

{C) marginal product must be increasing
{0} marginal product could either be increasing or decreasing 1

~17 Aséuime the total product of two workers is 100 and the total product of three workers is 120. The average product
of the third worker is , and the marginal product of the third worker is

A) 40; 20 T : e
éB; 20; 100 : Y p,= 10O 2 IIO;@ P
@ 13.33;6.67 Ty =120 3 oy ST
} 120; 100

13 At the point where total product is maximized, marginal product
iS zero, but average product is still { iy} positive
{B8) and average product are negative
{C) is positive, but average product is negative
(D} and average product are positive



14, ¥ we gssume that labor is the only varlable input, the slope of the total product curve in the short run ropel

# i 4
T 2

{A} has no econsmic significance(iphel el &l Lyl) o padtc
(B _measures the average product of labor
@ measures the marginal product of labor £
5) mz2asures hoth the marginal and a"eragc product at a#f points on the total product curve
' TV
15. The Farley Farm, a deiry company, has total costs of 51: 000G and total variable costs of $2,000. The Farley Farm's
tctal fixed costs are . L
@ )) $13,000
(C) $17,000

(D} Indeterminate{ as=d a:biud V) because the firm’s output level is net known

16. A firm will begin to experience diminishing returns at the point where
{A). marginal cost increases
(B) marginal cost decreases
margmaf product increases

Both BandgC

17, Wilbur's Widgets, a widget company, produces 100 widgets. lts average fixed cost is S5 and its total variable cost
is $300. What is the total cost of producing 100 widgets?
(A) $200 AFc=54
(8} $305 =4 TVC = 300
{C 5500 R“FC’ - % :...-b'r*:‘cw — 5,,5 joo =500
(D)) 5800 TC = TEC TV 2 360 +500 = %0 6O

4} 18. Diminishing marginal returns implies

A} Hecreasing average variable costs
decreasing marginal costs
{C) increasing marginal costs
{D} decreasiny average fixed costs ! M &

_ . 4 N ATC
19. Marginal costis average varlable cost when . ] ave
{A) equal to; average total cost is minimized 7 AFC

less than; total cost is maximized «
(C) greater than; average fixed cost is minimized =
{D) equal to; average variable cost is minimized

4 20. The diamond/water paradox (d==ilis} states that things with the vaiue in use (<Ml dud) frequently

have value i in exchange (d-ﬂ-ul% w)

T(A) least;the least £ MW /}06

least; little or no ==
.a»"/-"""ﬂ-"

{C) greatest; little or no
{D) greatest; the greatest




estion El1

The following table gives total output or total product as a function of labor unit used

Mumber of labor l Total product {cutput) | Average product of labér—;'
0 | 0 o
1 5 Gl =5
2 9 ajz =\4-%
3 i2 \2./3 = ¥ ]
. 14 /Y = 35
5 15 o/ 5 =%

a. Calculate the average productivity of labor from the information given in the above table }//}, (,_r"!

b, Define the law of d;mamshmg returns

Cvx._—J' i}kLRJJ L__S) & CUU/; M-)-“/ ,‘, 2 DV e L /"’J"

c. Does the table indicate (U5} a situation of diminisiiing returns? Explain your answer

NES poi,
,.._A.,i.(f.gf,\emja /?/czfz(/j' wi) jm U/r.%d /ftioor) G/UIHQ w@g s )3 " LzU #/ :.,UHJJ

55 U5 (Mg pid) e L) o2 e 65 30) ML) e

Duestion §2
i
i ; &
A firma's cost curves are given in the following table: A 'TC:AV‘C 41'55’6 P
o : )
\ Lo | Total product {Q) | Variable cost Total cost AVC ATC MC
- 0 0 = 100 1 — T -
Com 1 3> 430, 130 - \36GL3 136~ 2o
- 2 Lz A%0 2 1ng 25 75 ) 2T
) 3 %d m/ \$4, 53\/ 53 - 9
? 4 4 NESCGEN W3\ Y3 .~ 13
AN A ——— L& %i ds i1 330 37-6 | 15 1,

a. Complete the table
b, Graph { aaJl) AVC, ATC, and MC on the same graph (sl 0ul ), what is the relationship between the MP

curve and AVC curve

Lo



Cuestion 23

. Suppose the price of Apples goes up from $20 to $22 a box. Ahmad farms supplies 1200 boxes of Apples instead
{&a V) of 1000 boxes. Compute the coefficient () of price elasticity “midpoints approach” for Ahmad’s supply.

15 its supply elastic or it inelastic?

o Peise Rog 22§ \20

£ ﬁ T T 7 R o _qu
B B TR T

Question #4 - .
CHE Y 7) 13p

Assume that Jamil has 210 1o spend on good X and good ¥, the price of X is $1 while price of Y is $2. Jamil’s preferences

for X and Y are summarized in the following table:

FUnitaf)( [ Total utility | MUX (MU Per g | Unitsof ¢ | Total utiiityr muy | MU Perg f:zo}’/
af X For K | of Y For Y

10 wff =10 o 24 4 e el R = 1Y

18 :9 Ol 44 22 L

B PE% | 15:5) 82 godley | [fo3) | = 1

31 395 7-%/ 78 \q95 &8 5 At = T

36 7&sl | UZ/A

/A 90 \% MBS
40 Lo | 6 LF % [\GATP
43 shef | 6

100 4% S
a. Fiilin the table for marginal utility for both X and Y
b. Are these preferences consistent {4} with the law of diminishing marginal utility? Explain briefly (jlab dijef s ;)

o | i | e ) s
OGO hD

WO G o i e o = = S L R el
e i M LAY — 3—"',,;. M‘i—-ﬂ’”r
.-nm e R e e




MU =Mty ) X+ py ) (/

=t y= 3 1 +6=27 X
(7(:2_ = FU=16)
k=2 Y=9 2+l0=12 X
L=3 Y26 3+ 15 &
=9 ¥=F |94y 219K




d. What conditions are satisfied in part c?

the budget line and identify its slope .

,l’v)( +Py}f = 10=X+ RV

A Tra e Y 1T T Mdy | Mg /W%
i v lzu ] 2Y o | 2y
ZEAERESKIEE T 2

29145 3| 6T 2047 -3 [ 049

N Kl I F¢ w«z | 7}"9 qﬁz ‘;/ (’Hﬁ) ?%) (D
TTTa e Tae T IV . =5
S ET e T T o6 /16 -

| 7 100?1\43' é/f”’.m’fj

XS
)f?,”

g. ffyou ¢aleulated correctiyryouhave fous that 3 decrease in the vrice of good Y has caused Jamil t¢ buy more

quantities of X and Y. How can this be e,fplamed (e} nedfi iS)?

5‘2‘”’ g Ghlhyiz il Z“? 7 R —
| (&%é\)ﬂ%ﬂ 6/

b splus o) 20 KL
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Guestion & 1: Multiple Choless.
Choose tha one alternative that best completes the statement or answers the question.

1. The income elasticity of demand for education (34 is 3.5. Thus, a 4% increase in income will

(A} decrease the quantity of education demanded by 3.5% LSl ®
{B) decrease the quantity of education demanded by 14% s QT:‘;
{€) increasa the quantity of education demanded by 4% . f,(if'
dB¥ increase the quantity of aducation demanded by 14% 7.)&-'3 > 8 ] u‘ \U\
2. If the quantity demanded of peanut butter (Si-dll 32 3) increases by 4% when the price of jelly decreases by 2%, the
cross-price elasticity of demand between peanut butter and jelly is

-4 ’ \] d L}‘]' - i/
2 = h\/q - /—-'."" - .
-2 cqc\.] /\\“ 2 ,w(;'/ /.
o Wl Tia T

3. Ramiis consuming X and Y so that he is spending his entire {{5) income and 'lgf =6 ,and ——y— =10. To maximize

utility, he should “};\ My <. {V‘l&i
(A} continue to consume the same amount of X and ¥ since he is already maximizing utility 0 ?“' ¥

Cg {B) consume less of both Xand Y
{C) consume more X and less Y
L(BT consume less X and more ¥

Px P
(A} spending a do!{ar less on Y and a dollar more on X increases utility

LB spending a dollat fess on X and a dollar more on Y increases utility
{C) Xis more expensive than ¥

(D} Yis more expensive than X ‘ Mu\ - }\2 , Mu = ! ’V\,:')‘

The marginal utliity of the first cup of coffee that Tamer drinks in the morning is worth $2.00. The marginal utility
of the 9th cup of coffee he drinks is positive while the marginal utility of the 10th cup of coffee he drinks in the

ﬂ%?éning is worth $0. This implies that at a price of $0, Tamer wouid drink

deo

zero cups of coffee per morning

5{ (B} at most 10 cups of coffee per morning
{C} more than 10 cups of coffee per morning, but the actual ﬁumber is indeterminate from this information

{0} an infinite number of cups of coffee each morning

P e

H

6. The law of diminishing marginal utility refers to
(A) 2 consumear's decrease in total satisfaction as she consumes more units of a good
u{»B‘I a consumer’s decrease in additional satisfaction as she consumes more and more units of a good
[C} theides that total utility is negative
(D} the idea that marginal utility is negative

7. Avise inthe price of Pepsi that causes a household to shift its purchasing pattern towarci {olaly DAY Bladl y2))
Colee and away from Pepst is the : effect of a price change.

(A} income

D(‘S))sfzbstitution

{C} complementary

{0} diminishing marginal utility

‘%)‘)Q'QQ‘\




8. Inthelong run,
(&) afirm can shut down, but it cannot exit the industry

{BY there are no fixed factors of production
{C} afirm can vary () all inputs, but it cannot change the mix of inputs it uses

{D} all firms must make economic profits

Refer to the information provided jn Figure 1.3 below to enswer the guestions 8, ond 210,

Figure 2.1

L]

Mumbesr of lawes
rooswed prer oy
- :

o W

1 % L

rs
Humbar of empiosaes

9. Referio Figure 1.1 .The marginal product of the second worker is lawns moved.

(A) 3 + bk
5 f\’\ ? oY 3 ,3__’ = 5
() 8 2 -5\
{D) 11 :
10. Refer to Figure 1.1. The average product of the second worker is lawns moved.
4 . . 2
®) 5 AL A 2 Al
(C} 5.5 /ﬁf\
b} 11 - , ' _" :

%11. If marginal product is greater than average product, then ; y :
{75 (A} average product must be detreasing M{) D %q o %-.‘ N
Y {B} marginal product must be decreasing . S
L(;)%"ginai product must be increasing a8
marginal product could either be increasing or decreasing

12, Assume the total product of two workers is 100 and the total product of three workers is 120, The average product
- of the third worker is , and the marginal product of the third worler is =

40; 20 o 300 _ 4
u{g/m; 100 K ‘Q’; > w \% /@\
(€} 13.33;6.67 . o <0y pe e % /\si/ -
(D) 120; 100 e {’7' o ’
13. Atthe point where total product is maximized, marginal product o ” 3
,1/3‘ m zero, but average product is still { &) positive
WA {8) and average product are negative
{C) is positive, but average nroduct is negative j(\i‘ . “’\%
(D) and average product are positive N <&
w7 V7

o




14. i we assume that labor is the only #ariable input} the siope of the total product curve in the short run
-~ {A) has no economic significance (b=t du.al 4 ) <9
= - A wOE T , .
(B} measures the average product of labor b =) D’{
Measures the marginal product of labor 2
~‘;,(Zt‘/n'ieasures both the marginal and average product at ail points on the total product curve

15. The Farley Farm, a dairy company, has total costs of $15,000 and total varlab!e costs of $2,000. The Farley Farm's

total fixed costs are <o
(A} 50 : - = \ QVOOO R
481 $13,000 Ge s L7

(C} $17,000
(D} Indeterminate{ 3= aliul ¥) hecause the firm's output level is not known

- returng at the point where

16. A firm will begin to experienc dlmamsh ;

@? marginal cost increases A .
_ marginal cast decreases // _ f C
gcg ;nafg:aI iroduc't increases ‘ ce ,(C = 5 1«(55'
D} BothBandC : .
UL | A = fic 5 Zoa\
17. Wilbur's Widgets, a widget company, produces 100 widgets. !ts average fixed cost is 55 and its total variable cost
is $300. What is the total cost of producing 100 widgets? — C @\
(A} $300 _ 55
(B} $305 - V6O {;“; - g ~C -3¢ 1
< $500 b - Fot ¢c = wES .
o . N 2 A Q :
o sa e e, €
) ‘i[/ ' ;!', (cﬂ
18. Diminishing marginal returns implies Horr ‘ /’
nIRTTEs Tl TR ! .
(. {A) decreasing average variable costs ' \ e
(B) decreasing marginal costs 1/ i e

ncreasmg marginal costs ‘
(D} decreasmg average fixed costs ’m

59 Marginal costis average variable cost

(A} eguai to; average total cost is minimized X

B¥ Tes Than, total cost is maximized. .
greater than; average fixed cost is minimized

@ aqual to; average variable cost is mirfimiz_éfd x

%jﬁ%@

,q;" o _
20. The diamond/water paradox (l=iiis) states that things with the value in use {Diau¥ 38 frequently

have’ valug in exchange (Jaal Aa), _
o NG

(A} least; the least
AN
i

3.

{B} least; littie or no 1

{C), greatest; little or no
(P17 greatest; the greatest

EC




Ouestion #3

The following table gives total output or total product as a function of labor unit used 1

”;5'
L{ P

Number of labor Total product {output) | Average product of labor
0 0 Q
i 5 Ly
2 9 4.5
3 12 4
4 14 3.6 )
5 15 S—

a.

b. Define the law of d:mmishmg returns

¢. Does the table indicate {LsX) 2 satuauon of dimini

Calculate the average productivity of labor from the information given in the above table

P

A P St dﬁmmw{‘}

e

i

- hia T0. % RINCE,... ASON
TP ''''''''' .38 Cdc pont _C. mefffmw*f) (ﬁ’«(-um\ 5) v £t
D (C Cn’&k‘)ﬂﬂﬁ ﬁ @ups h‘“"f} Ré - )
R, i, Lhegarve Cham
!\ﬁ(’ —
Question #2
T L — . . _TC =sTc=i% |
A firm’s cost curves are given in th@following table: A tC—= —T._.C. =) +S "“i.?“_—“‘ 2 ¢
| & o531z =
 C. [ Total product {Q) | Varisble cost | Total cost AVC ATC MC
%' Qo 0 deax O 100 - — — —
T oo 1 20 130 - 30 120 30
e 2 oYe) - 1Se 9, 75 26
Tdeol 3 59 159 9.6 53 9
| ' oo 4 3z 132 1 £ L2 - 13
I_agel > 8F 7 183 | gt | 3F.49 15 B
3 - 3. Complete the table :
b. Graph { ~<Ji} AYC, ATC, and MC on the same graph (fe it (s 5), what is the re

/

Ave=ve oo G o
A

curve and AVC curve
—

g‘-’\("’/:é\q %{l r,_,:. S ——

s ShWJ Ye. l*uumf ) -Cxha. on. addihiendal- "_. £z
oT.. p@dwcfr Hen

i n@j‘ﬁ"“-‘ﬁ— f\"‘? “H\e'f\ ”f&‘/
? Explain yaur answer e o

we

M;C_ éﬂ%ﬁ/ﬂ'i’&‘@ W\ﬂﬁ
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D
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Ouestion 3

a.

b. -Suppose the price of Apples goes up from $20 10 522 a box. Ahmad farms

Write down the formula for meaning the price elasticity of supply

Pf\c&c\w’mu«j ,;,3}‘ Sv-PP"\Q. %sjewf'

’ﬂrif PWCM’\LCLQ{ (“/L\wa"jﬁ AN H Pika(-'"L/w/ ..............................................................

oo By

o Spgeis

oy

3*!

PY\"‘Q’

Yupplies 12%‘5

pe»ra,wtmaf Q}&,\_avfj" A
Sertdt .

x
oxesDf Apples instead

{0~ Y4} of 1009 boxes. Compute the coefficient (A=5) of price elasticity “midpoints approach” for Ahmad’s supply.
A e T

s jts supply elostfc or it inclastic?

P A..(20-222)..

W4 (R0 31060)

—,-ﬁa

Question #4

Yhsd mw\~

@x

(, o [9,00@ (S G o
T 4 Z

(Xt

Assume that Jamil has $10 to spend on good X and good Y,

—
ey

[—19]=

the price of X :s.rhale price of Yis 52 Jamil’s preferences

for X and Y are summarized in the following table: Mu = ﬁ Mug =BT ™ . J %
Ma et § Maper y =
Unit of X Tot?! utility | MUX | A e Unitsof¥ | Total ufﬁiity MUY | M WP, J\:’uM}/PY
. of X of ¥
1 10 = 10 (O 1. 24 =2y [0 | 2 v
2 18 g =3 2 44 20 Qo | %= .=zo
3 25 1 7 3 62 1 £ & &
4 31 & G ¥ 4 78 14 g1 i &
5 35 c S 5 90 iz (L) P2
R R N 8. s | £ (D) =
7 43 2 ¢ 7 100 uf =7z V&

a. Fill in the table for marginal u'ﬁi’:t(y?;r bom

b. Are these preferences cons:stent (&%) with the law or diminishing ma rgmai utility? Explain bneﬂy (Gl ilsf e )

lowesd

(mMqu( .4 f_(l'(&&oﬁ

-~

!h ledCLqu"iCJ

c. What quantﬁ:ies of good X and good Y will maximize Jamil's level 0{ satasfact:on {utHity)?

o Brlanp... ) CaNEC
} K~2/Y»

Awsve
Rearay

\ &A.HI’K

=4 ;Y 2

5

\”Ki-\»PV V -'f

T 2 l+“i%2

Fat w6 =

—f’f”‘

PN IR
e =

e CfiZ]bL;L:\r\jﬁx.«yV\@ =5

The. aaaiswmm
/d\,.zﬁa_] .__,f!:u.ﬁ

Secihe sfadwn oM Cansumﬁ
vt and mev€ uml-j O’F 900

= (0.

|

1

i




. What conditions are satisfied in part ¢?

Q p“( + pyy L VCovat...
(s 'Zﬁlﬁ’.ﬂﬁﬁfﬁ.ﬁﬁfff"_"'f_f_"f""iffjﬁﬁﬁ“"_ﬁf_f‘fﬁf_'iﬁﬁﬁff_ffﬁﬂ"".ﬁj"'..'.Iff

““{j}?“ iP‘]

e. Draw (~o) the budget line and identify its s!ope

a‘_,{‘i‘:/aﬂmbl-é

f. Now suppose that the price of Y falls to-S1, what quantities of good X and good Y will Jamil purchase to maximize
satisfaction (utility}?
Cﬂfcmp Lo .“{C,!p Cend IAN Jrs . px )(_\,goi/ iﬂ""
- _.i ‘%y b Yt b5 10500 5
,/:I— Gam—t:’?q%l ,»1?7&!03(

g. If you calculated correctly, you have found (a:3) that a decrease in the price of good Y has caused Jamil to buy more
guantities of X and Y. How can this be explained {&ule) i w287

Thin Com 192 Seqived
’,f he GI @mi?d C A . O»F’UC) C O ﬂ{plﬁlﬂi 4 L€

. - gt hokien ey |
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PART ONE: MULTIPLE CHOICE (60 POINTS)

1. Marginal utility can be:

A, positive, but not negative,
positive or negative, but not zero.

C. positive, negative, or zero.

D. decreasing, but not negative.

Units Total  Marginal
Consumed  Utility Utility
v o -
1 w 20
2 35 X
3 Y 19
4 40 Z

2. Refer to the above data. The value for Y is:
A. 25,

B. 30.

C. 40,

(@D

3. The theory of consumer behavior assumes that:
Al tonsumers behave rationally, attempting to maximize their satisfaction.
. consumers have unlimited money incomes. _
C. consumers do not know how much marginal utility they obtain from successive
units(faliis <las 3 of various products.
D. marginal utility is constant.

4. To maximize utility a consumer should allocate money income so that the:
A elasticity of demand on all products purchased is the same.
marginal utility obtained from the last dollar spent on each product is the same.
C. total utility derived from each product consumed is the same.
D. marginal utility of the last unit of each product consumed is the same.

5. Suppose that MUy/Py exceeds MUy/Py. To maximize utility the consumer who is
spending all her money income should buy:
A. less of X only if its price rises.
B. more of Y only if its price rises.
C. more of Y and less of X.
@more of X and less of Y.



Units Units ' Wy
of J MUJF of K Mng

1 56 7 1 32°

2 484 2 28 2,5 &G
3 32 Y 3 24 225

4 24? 4 202 %

5 202% 5 12 4,5

I 16 2 & 10 \,- &

7 1245 7 g i 7

6. Refer to the above data. If the consumer has a money income of $52 and the prices of J
and K are §8 and $4 respectively, the consumer will maximize her utility by
purchasing:

A. 2 units of J and 7 units of K.

units of J and 5 units of K.
@ units of J and 5 units of K.
. 6 units of J and 3 units of K. R,

7. Anincrease in the price of product A will: Nl

A. increase the marginal utility per dollar spent on A.
decrease the marginal utility per dollar spent on A.

C. not affect the marginal utility per dollar spent on A.

D. cause utility-maximizing consumers to buy more of A.

8. The theory of consumer behavior assumes that consumers attempt to maximize:
A, the difference between total and marginal utility..
total utility. '
C. average utility.
D. marginal utility.

-9. Diminishing marginal utility explains why:

A. the income effect exceeds the substitution effect.
B. the substitution effect exceeds the income effect.
C. supply curves are upsloping.

emand curves are downsloping.

10. At cach point on an indifference curve:
A. money income is the same.
B. the prices of the two products are the same.
C. total utility is the same.

marginal utility is the same.

11. Which of the following definitions 1s correct?

A. Accounting profit + economic profit = normal profit.

B. Economic profit - accounting profit = explicit costs.

Fconomic profit = dccounting profit - implicit costs.
conomic profit - implicit costs = accounting profits.

2



12. To economists, the main difference between the short run and the long run is that:

A. the law of diminishing returns applies in the long run, but not in the short run.
in the long run all resources are variable, while in the short run at least one resource is
fixed. ’

C. fixed costs are more important to decision making in the long run than they are in the
short run.

D. in the short run all resources are fixed, while in the long run all resources are variable.

13, Marginal product is:

fhe increase in total output attributable(ws 3) to the employment of one more worker.
B. the increase in total revenue aftributable to the employment of one more worker.
C. the increase in total cost attributable to the employment of one more worker.

total product divided by the number of workers employed.

14. Which of the following statements concerning the relationships between total product
(TP), average product (AP), and marginal product (MP) is not correct? . Q f,/fj)/

AVAP continues to rise so long as TP is rising. R

B. AP reaches a maximum before TP reaches a maximum.

C. TP reaches a maximum when the MP of the variable input becomes zero.

D. MP cuts AP at the maximum AP,

i

15. Marginal product:
A. diminishes at ail levels of production.
may initially increase, then diminish, but never become negative.
@may initially increase, then diminish, and nltimately become negative.
D. is always less than average product,

/ 16. If a variable input is added to some fixed input, beyond some point the resulting extra
output will decline. This statement describes:
Zeconomies and diseconomies of scale.
B. X-inefficiency.
he law of diminishing returns.
the law of diminishing marginal utility.
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17. In the above diagram curves 1, 2, and 3 represent the:
A. average, marginal, and total product curves respectively( s =),
B. marginal, average, and total product curves respectively.
total, average, and marginal product curves respectively.
D. total, marginal, and average product curves respectively.

18. Fixed cost is:
A, the cost of producing one more unit of capital, for example, machinery.
B, any cost which does not change when the firm changes its output.
. average cost multiplied by the firm's output.
D. usually zero in the short run.

@ 19.1f you operated a small bakery, which of the following would be a variable cost in the
S short run? '
A baking gvens
B. interest on business loans
~ C. annual lease payment for use of the building
@baking supplies (flour, salt, etc.)

20. Which of the following is correct as it relates to cost curves?
A. Average variable cost intersects{zL) marginal cost at the latter's minimum point.
Marginal cost intersects average total cost at the latter's minimum point.
. Average fixed cost intersects marginal cost at the latter's minimum point.
D. Marginal cost intersects average ﬁXegl\g?Os_t at the latter's minimum point.

21. Other things equal, if the prices of a firm's variable inputs were to fall:
A. one could not predict(0¢<3) how unit costs of production would be affected.
B. marginal cost, average variable cost, and average fixed cost would all fall.
. marginal cost, average variable cost, and average total cost would all fall.
average variable cost would fall, but marginal cost would be unchanged.



4

o Qutput

22. In the above figure, curves 1, 2, 3, and 4 represent the:
A. ATC, MC, AFC, and AVC curves respectively.
B. MC, AFC, AVC, and ATC curves respectively.
@MC, ATC, AVC, and AFC curves respectively.
D. ATC, AVC, AFC, and MC curves respectively.

23. Which of the following is correct?

A. There is no relationship between MP and MC.

B. When AP is risthg MC 1s falling, and when AP is falling MC is rising.
C. When MP is rising MC is rising, and when MP is falling MC is falling.
D.,YWhen MP is rising 1\6(3 is falling, and when MP is falling MC is rising.

Y

24. When diseconomies of scale occur:

A. the long-run average total cost curve falls.

B. marginal cost intersects average total cost.
the long-run average total cost curve rises.

D. average fixed costs will rise.




PART TWO A: (30 POINTS)

1. A consumer has an income of $24 to spend each day. The only two goods the
consumer 1is interested in purchasing are goods A and B. The marginal-utility
schedules for these two goods are shown in the table below. The price of B does not
change and is $2. The marginal utility per dollar from B is also shown in the table.
But the price’of A varies as shown in the table. The marginal utility per dollar from
A when the price of ?i’ii&j?j_fnd $4 is shown in the following table.(15 points) ,/n)"

Good A Good B

Quantity MU MU/SE  MUSe MU M2

1 48 i2 24 12

2 32 s 15 8

3 24 g w12 (6>

4 18 o 47T 8 3

% 8 2\ 6 3"

6 4 1¢ 4 2

Complete the table below to show how much of A the consumer will buy each week
at each of the two possible prices of A. Also, show how much B will be demanded
when the price of A changes. Explain

Quantity of A Quantity of 8
Priceof A demanded PriceofB demanded

THNS CWETENE S Gl R
& S ) N

4.00 00 ) <24
v = R ;
' -\ x 6K N Y
aoud Lo A kN8 7 T e T
Q\q.te o 9- J = 2 }\. . 1%_; P{;}fﬁfféjﬁ_ﬂ
2 A 4B 2 RN T
= ’/‘% A3 \B _‘SA-L A L = &
@: NVLCUPITS L R VAP Gy B
2. Complete the following short-run cost table using the information provided. |
Total
product AvC B  Tye
; 57 .- NELR
1 ZEERAIY s $12 B
2 4 10 s
3 12 AN © ff{
4 14 o
N
AN . TTu e
o 5 & W™ \\
o (oiwed Q3% %g?"‘ /



PART TWO B: TRUE or FALSE (10 POINTS)
Circle the correct answer

1. A rational consumer will cease purchasing a product at that quantity where

mutility begins to diminish.
- @ - Falée

2. When total utility is at a maximum, marginal utility is zero, * ="~

- (Tfué~ - False
J

3. Diseconbrpies of scale stem primarily from the difficulties in managing and
coordingting a large-scale business enterprise.

4. At zero units of output a firm's variable costs are zero.
- @ ‘ - -~ False

5. The law of diminishing returns explains diseconomies of scale.
S

N

S
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PART I Multiple-choice gquestions (40 poinis).
Circle the best answer for each of the following questions:

LA gurye which represents.all. combmatwns that give the consumer samé Ieve isfaction is called - AL
a.’ /the demand curve. e }> ::M—-‘"
s b

b.  the budget line, : Ry
@ the indifference curve. ) . f

d. the satisfaction curve.
e. the utility curve.

2. Which of the beowmc costs remain unchanged as the quantity of output increases
iy ¥ c::—u-—__.,_.r————‘ e
total- fixed-cost.
total variable cost.
average variable cost. AR mz\/ A
average fixed cost. ' , /-
both (¢ and (d) are correct.

p;lpp“@

3. When to_g]_modurt isa ‘na‘{:mur?

‘marginat uroauct is max:rw*u

marginal product is zero. " w
average product is zero,

average pxoduct is maximum,

total cost is maximum,

o o g

4. ifa firm has total revenue of $J 00205‘! 1mphc:t o0sts of of $20,DOO,: and explicit costs of@%‘ﬁ{)o then o o€ c)

“economic loss is $10,000. - Q Doty
economic profit is $10.000, . Nooyd o° o ?{&,\ o Vﬁ\ - \\ (3) o0

c. normal profit is $10,000. ‘ \Q\ - -CD"‘“N CA a0 ©
d. implicit prefit is $10,000. ' ¢ . - OO 7 O
e, none of the above. ' 4

5. Gene1 ally, as consumption of a good increases (Aaludl didlghnl 45 LalS dale diay), then

Both total Utility and marginal utility decrease. ’i—“ - A ’Mm‘w ¢ ]
Both total utility and marginal utility increase. NN . i
; Marginal utlhty increases and total utility decreases. <\ 1 !

d Mﬂrglnal utlhty decreases and total uthms unchanged. o

@ Marginal utility decreases and total utrh  jncreases.
v—'—'H—_F'_A_ :_-_‘-_'“ﬂ}_u _____

é

1
6. Ifafirm is not pxoducmg any outgut total cost equals

~
a. Zero. (
' ﬂxed cost. B \/
¢, marginal cost. '
d. variable cost,
e. none of the above.

W




7. Chanoes in cowphor that tesv!ts ﬁom (u~ z41; changes in pmchasmg ; power (38 80 3 8 due to (=) changes in
price & called ™ -

. consumntion effect. iP %"%
income effect. -

substitution effest—>
taw of demand.
law of supply

® 99@‘”

T \\ M =< > \3 [
the total cost of producmg 6 units is $48 and the margtm] cost of the 7th init 18815, then A Yo 2%

thé total fixed cost is 48,

the average fixed cost of 7 umts IS 59.
the
the total vamable cost of 7 unite 1s § 15.
the average variable cost of 7 units is $15.

jury

8. 1

WC=_ple

PP«PP‘@

b ~ ¢ _4g
_ -~;:—‘._;§"
egative marginal utlhty y implies (sl Jay eyaz) that rag b
total utility is negafive. _ o
. total utility is rising (w %), fa-w < 0 f\;@’
(’ total mtility is dechmng (Bl e
d. malgzmi utility is rising (413%). r/\ P >P

e. Both\c)and(d)above M el O (L . q — 5&
",_:?—-‘

w0
Z

53“

\

10. Inthe lonc Tun,
a, Q\Jelage fixed cost is less than average variabie cost,
b. average fixed cost is greater than average variable cost.
c. onlythe scale of plant is fixed.
d. all inputs are fixed.
@ all inputs are variable.

i 1 Diamonds (< p 2lly are more expensive (_)"-*-“-H &5 e ‘LJ‘:-) th'm water becanse:
\«J a. diamonds are more usefuk .
b, water is an inferic good.

c clﬁ_@ggds nwe hzghm tatal mwhtyi-““

"’e. houseuolds are not ratmnal

12. Under elg, iminishing mar, inak Lezurr&/

average product is riging,
b. avefage variable cost is rising.
é) average fixed cost is rrsmgﬁ*’
i marg ginal product is rising.
e . _

% Answer the next two guestions on the basis of the following graph e

" 13.Tomax m:ze utlhty the consumer should buy
: a. 30 umts of' Y and nothmg of X.
b nothlnc of ¥ and 40 units of X.
. 30.umits of ¥ and 4Q units o X.
15 units of Y and 20 units of X,
e. none of the above,

BT

PRSPy |
)

3o X (& e

14. Tf the price of good Y is §.] 10 “the price ¢ goodd‘ai 15 R T
a $125 el
@ $75
e. §20

d—. $ 10
. none of the above



oo Vo
_“_'_“’__'Lr . \\
15. At 100 units of output, T(, is $10,000 and VC is §5, GOO T:gn AFC equals:

a. 200 ) T < \J c.

b. 100 @

c. 30 . oo \oyoce €050

5 40 .

&, none of the above. < - Yo -~ ?—Q,

a (ﬁéTLn average Cost is falfing. 60
long 1 in average cost is risin, :
c. marginal cost equals averdge cost. Q‘P_ C = Yoo
d. shortrun average cost is rising. % C = ?C
a. short run average cost is falling. A At Q

16. When there are egonomies of scale, k« 18yeC = ses

L H[ﬂ(‘:@
1 e

PART IT: Essay questions (60 points)
Answer the following questions in the space provided. SHOW YOUR WORK!

oy

{uestion 1 {20 rainis)

T
e \i
Suppose that a business firm produces shirts and employs only two types of inpu /%abor which is the o#/:za;iabl
input, and capite _(,Q.whlcn is the oply fixed fnput. “The price ‘of labor ts §20 Yerworker, while the price of cap:tdi is @el f C.
u,n\m camtal The fi fim cu‘rentl em Io 39 umits of capital and has the following short-nim_praductian fu mr*nen

/L((/ | Leorkery (0T 1 | 2 | 3 [F8 W& {e)] 7 1 8 | 0 |
_ TP {(hirts) 13 1oz (2531 36 | 40 | 44 | 45 | 45 .
<, e A '.' lq X

a. Ifthe firm employs © workers, what is the average product of workers?

. M’ T
_ C\ o .

AP -
b. Ifthe ﬁrm D_r_odglceggS shirts, wha. '3 the average variable cost (AVC)?

%
b L - "Los(?’“L“’
_@ 7

= A

¢. If the firm *mniov@forkms what is the marginal product of the sixth worker?
up - ?2 Qzé,_
S :/4/

d. Ifthe firm producef 1 18 sluﬁs, whgtjﬁe average rJg(ed cost (AFC)?

AYC — X.C

h
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{Muesiion 2 (20 points} p/

Consider the following marginal utility schedule that a consumer derives from goods X and Y. Assume that the consumer

has an income 2;!:'.,‘520 which he spends on these two goods; the price of X 15 s $4 per umt and the price of Y is §2 b2 per unit.
& P=

g

v i

L 2, u_%--\ £

<7
&

LL | Quantity | MUofX MU of ¥
1Y 1 30 18
V7 el 24 16
(0 3 20 12
Yoo B 4 16 10
Yo e -5 12 8 i
Plice £ %4 e ¥
a. How much is the consumer’s total utility when he/she consumes 2 units of X and 4 units of Y? Explain. !

MMU\__._AL

4 i 5 o R

./S o \

b. Assume that the consumer wants to maximize his/her utility, how many units of X and Y will he/she purchase?

Why?
2 Yom X ,cmmc\ g"flzfrsmj é
St and el (S

1 P K cnd S fiem Y {H —

— %Vfrﬂjiw (4 H)
B (Tx D) > ”@xa

/ c. Suppose that the price of X is decreased to $2 with no change in income or price of Y, what combination of X and

Y will this consumer purchase to maximize his/her utility? Why?

d. Construct a demand schedule for good X (below), P A 5 g
and draw the demand curve for this
consumer in the following space =
LABEL VOUR GRAFH.

PeX 50y =
AR -k'?_‘? “Z.D

. SN b) bo mutimize whil, L) he 3\1%\@\ (o"&.\mﬁ 2 e o c\/e)'/Lf F\ng \{
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K‘% |
Duestion 3 20 painisf‘- ‘ /’

Consider the following graph which represents the cost curves for a business firm:

Cost (dollars) 35 1

e il Tt }-'
/\9 vy l K
e // » B !
Q/a/‘? 5 AN YA
AT
"' _ Quantity (tons)
Q
| :
! L
Answer the following q’pesiions on the basis of the above graph. Lﬁi

o/

] - >
First, suppose that the firm iy currently gmducinfﬂ‘%ﬂ tons of output, calculate the following at this level of output: g“
: o

a. Total Veriable Cost (VC) | '
‘ ) - \J.C '
s

~of He
-
Second, suppose that the firm is currently producing@ tons of output, calcuiate the following at this level of output:

e,
= ,.._GO
b. Total fixed cost {TFC)

T = bos
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Section I:

Multinle Choices (60 poinis)

3

E'JJ

IC‘.»

o

2.

Marginal ufility is the
(A) satfisfaction achieved when a corsumer has had enough of a product.
(B) total satisfaction received from consuming a given number of unifs of a product.
(0 exdra satisfaction received from consuming one more unit of a product.
| average safisfaction received from consuming a product.

/

A firm has total revenue of E{»lOOmnhon expllcﬁ cos’rs of $90m|!hon and implicit costs of $20million. It's

economic profit is =
A& 4 ) /
)

(A) $30 million i
(B} $80 million =
\ T L | 1e
MY s M

(C) $10 million
DI%5$10 milfion

Laniei pure competition, a firms average revenue is
[A‘)) equadl fo price.

tB] lotal revenue divided by (= 54 total cost

(C) the revenue received by the firm per unit of labor hired (aik s &5 dale J9),
(D) price iimeas quantily sold.

The example of a pure r“ompeaﬂﬂvp inclustry is the
(A} electricitys< e

{BY > gasoline stalions (ol cille), /

(C) wheatindusiry g /

D} airlines inclustry...

Suppose thai the marginal utility you derive from the last slice (i«k8) of cheese plzzq purchased is 50 and ifs
price is $1. Also, the marginat utility you derive from the lost boltle of soda purchased is 300 and ifs price is

$3.

[A) Your are presently maximizing your foral utility from consuming pizza and soda \ ﬁ“\ jo e I g?
(? You can increase your total utility by purchasing more pizza and less soda W P o
@‘You can increase your total utility by purchasing more soda and less pizza, V 5 i [ B
(D) You canincrease your total utility oy purchasing zero units of both goods ' "'\'? . s
s Y222

Which of the following are implicit costs for a typical firm? MUs - ;f

[A) @ business licernsing fee (uas il ap)) =T N

(B} ufiliies cost (wdaasll callss) / e

(C) the cost of labor hired (dale dadi calss) by the firm “ L )e
@\opportunﬁy costs of capital owned and used by ihe firm YA / e

®

A tise in the fixed cost will cause a firm's gy 3

(A) average variable cost curve to shift up. X J
({BNaverage total-cost curve to shift up. LI
kCT marginal cost curve fo shift up.X o N\‘\A\

; ) . 3
(D) average total cost curve to shift down. /‘:\)/ <A
1 &
If, when you consume another piece of candy, your margmol utility is zero. then s /:f'{;;‘/"
(A} you should consume less candly. @L\ F7 A/
you want more candy. Ml/ L \ﬂ L Y
yvou have maximized your total utility from consuming condy.\\, ' £
(D) you have not yet reached (= i ) the point of diminishing marginal ufility. '
A purely compelitive firm's supply curve is made up of its marginal cost curve at all points above the

rminimum

(A) marginal cost curve.
((B) average variable cost curve. ,
\{g) average fixed cost curve. /

(D) average total cost curve. d

IV ).




A

-
|-

12

10, The law of diminishing marginal returns states:

11. In a purely competitive industry, the market pri

(A) as a firm uses more of a variable input, given the quantity of fixed inpufs, its average cost eventually

(Jled ) clecreases.
’I’PT)\*GS a firm uses more of o variable inputl, given the quantity of fixed inputs, its marginal product

[
aventually decreases.
{C) as the size of a plant increases, its marginal product eventually decreases.
D) as a firm uses more of a fixed input, given the quantity of variable inputs, its marginal product

eventually decreases. ~ (é /D( vC = L0 P( y ¢ > io )y

 is $8I0An indlividual firm is producing the output at
whtch MC $8. AVC at that output IS $10. What shaoid the firm do to maximize itst shorl- -run_profits or

lm;zc—ﬂs losses? 9 Q‘ _-.;J“’ il
|n5ufﬂuen’r information to answer (e 4ES e el ;hﬂi)/ V‘JL 122 &
‘i shutdown ~ -”\'@ 9
(C) leave output unchanged N, V‘ g i} -
(D) expand output (Y 1S 3 5) \E i i ; s /5 \P
y Vo A” gt 5 B
v)_‘v.__; ‘i/\ o ~ |
12. As Shawgji drinks additional cups of tei at breakfast, Shawaqi's \ \i\ L5 P
(A} Total utility frotn tea increase: 3 e W \f“” v M
/@ﬁmol utility from tea decrease . 7'/..7 {\f&!u =V . ) \ ﬁ, : y
C) Marginal utility from tea increase gt _.‘_.\-.,"?‘*"/, e ® g )7-’{ :
D). Marginal utility from tea decrease \3) e PR L \ wiy B v
L y ' o i
1 :;, If the total cost of producing 6 units o‘f%duc){ is $48, and the marginal cot’rﬁof the 7th unit is '!;! then
~{A) The a average cost of 7 units is $9. /—> = i -
5AB) marginal cost of the 7thunl’r is $2. R T el K . . ’E/ 5 C.7% \>\
"@pﬂce s $15 Q (J N’\ b N \ ) i 5-'=C e \ X r.:\c-
fixed cost is $33; \N TR skl 5 i ‘ e
L OB BUF T e G & 55 o
14, if Genercﬂ Motors Corpéldhor is making a negallve economic profit, we can conclude !hc\‘t .k 1
IT is making a positive accounting profit.Z” C( o~ <TI ‘(6; V) O “\w?‘\{ i
B) it is making a zero accounting profit. &~ },e\ t)b\v% ol ¢ xpliv [ &
{,C} it is making a negative accounting profit< ~ 7 &B o s
( (E_J}‘AH of the above are possible. ‘\S’gf/‘ '7/; JT_/’ N € wpie \\@ TR. ’,ﬁ)
A

15, A consumplion point inside: {Jalb ) the budqa lme/ 3 TC~ e % \ﬂ\ v
(A} ts unattainable o —=7 _
(B} Shows that the consumer spends income on only one &f fhe qoods /
(C) Shows that the consumer has chosen to spend all of his or her income on both proquJéi
6!;1 } Is attainable, but has some unspent incomea

14, In the short run, a pure competition firm produces ou‘rpu’r c:md &arns ( 3] cin economic profit if:

P = ATC = e
) P = ATC

(C) P < AVC i ,

(D) AVC > P > ATC 7 L/
17. Which of the following is frue about the relationships among various cost curveSu

(L)/when MC exceeds (0e ) ATC, ATC must be rising ,r

(B) when MC exceeds ATC, ATC could be rising or falling “ L

(C) when ATC is falling, MC must exceed ATC ; /

(D) when TC is rising, MC must exceed TC \/ / o/

-4 N

18. The economies of scale production levet:
(A} Is the output level where ATC at minimum
{B) Is the output level where long-run TC is decreasing
(C) Is the output level where long-run ATC is increasing Q

d m)js The oufpuf level where Iong -run ATC s decreasm /b » 6(‘\\»(\
= 'NV,\ 7 TL A 19 2 =

rer i




19. Firms in a pure competition face a:
[A) Perfectly elastic demand curve
(‘B{ Perfeclly inelastic demand curve
(C) Unitary elastic demand curve
(D} Downward sloping demand curve

20. Red Stone company currently hires (<) 5 workers. When it added a éth worker, its outpuf ac
[cwzmizd) . Which of the following staternents is true? St
(A) The average product of the sixth worker is negative. 0O N
The sixth worker is not as skilled as the fifth worker. ]
%l The total product becomes negative.
(DYThe marginal product of the sixth worker must be negative.

21. In perfect (pure) compstition,
(A) there are significant restrictions on enfry { dssall e 5 .S a8 allia) 7‘\
(B} each firm can influence (4%) the price of the good. X \y‘i ,
(C) there are few buyers. < ‘
/ (D)/all firms in the market sell their product at the same price
fe o
22, The break-even point is defined as cccuring at an output at which
(A) total cost is minimized.
(B) total revenue equals total variable cost , T
C) Price equal average total cost. P, (,\TC "?‘-)Pf T sC
) marginal revenue equals marginal cost

23. A firm that shuts down and produces no output incurs a loss (5 tes 238 equal to iis
{A) marginal costs.
({Bp total fixed costs.
(C) total variable costs.
(D) Zero

24. In the figure below, curve A 'ls the
(A) Marginal cost; average fixed cosi
(A) Averdge variable cost; marginal cost
AB) Average fixed cost; marginal cost e
[C) Average fixed cost; average total cost '; oA

_ curve and curve D is the CUIve.

oD

ualty fell




ion II: Short Answer Questions (40 points) show your work Jedl éuab () % Li

Question # 1(14 points) —C - i

/
Table below shows Sara’s utility from Tea and Sandwiches. The price of Ted is $2 per bottle an
price OMZM Sara has $10 E;pend on these two goods. —_—
Quantity of Marginal | Quantity of Marginal N\U Teo MWD seetbs | ARU +eonay
Tea Utility-{ Sandwiches Utility <€ T G T O e v
1 40 i 45 05 \5 - he +
2 20 2 30 \© S 1 200
3 12 3 27 (& A & T
4 10 4 18 = e | e |
5 6 5 15 i B () - DI
5 2 6 9 C 0 Y 2

=

a. If Sara maximizes her utility, how many units of each good should she buy? g

C-j'i@(‘P NU fer dale— | Cnafeses INLWLC =
. A . Ve Q-z,x-z,).*,{jx@ = (C“ g

(2
.

D

Sterex e s ’DLM i L,Lm“i‘ \E teon and B 2 ot oA sercleish
7L‘53 LK L”’”cq £ /\m Wi Ifjj

b. Assume that, other things remaining unchanged (A s Jal gl sl i a), the price of Tea falls to
$1. What quantities of Tea and Sandwiches will you now purchase fo masx uhll’ryfa‘ Is Tea cmd
Sandwiches substitutes , complements or unrelated in this case?

b{'/ A e, ﬁ:ﬁfﬁc// L Luw\@\h \_’,u l-+3¢.

)/\\ i (@ T§u/“—"#(){ k"\ 4;—0-)\"(33 S\(A\(/

|

.5 9

. C
INH A
\

@ { S L\ l [:’) o < :} ><
| | o £ Sl

g o N 3
R FL -Sll”(‘/{Qj [1‘\“4'} Lf(,tc\,/l' t '}(L 5‘/\/@4‘.’ ’J!/L’” v

"

da? My - Leishere.
= 2 S | | (M
P 1‘ : —'D LLP"L{”“';“' «C ; Z/j \/C/QW (C&f ‘_> ]‘ |
e N )szjw u;\’\ S W Jreolpe e o)

c. UsinB /frhe two prices and quantities of Tea, derive a demand schedule for Teq.

A QA (neqpd e ypalk
D \ Y/ = Y

| A

ﬂﬁﬁ@




Chiestion # 2(12 points)

WwvC

100 O

A\ﬂ C./-: 5
Q,S TC == L ﬁ‘TF C

B o BF

b. Whatis the éLerqge flxed cos of produmng 4 units of ou*rpuTB N

_——a_\




Question # 3(14 points)
Assume the following cost data are for a purely competitive producer. —

Total Average Average | Average | Marginal \)\\\
Procluct | Fixed cost Variable Total cost Cost \ /
cost
1 20 80 100 30
g 10 53 63 26 ,
3| 667 45.93 526 | 30 oot
4 ) (44.5\ 0.5~ | b et
5 4 45,6 49.6 \,-:f
é 3.34 46.66 50 52
7 2.85 49.45 (52.3) 66 7
(8) 2.5 53.25 (5575 | (80—
9 2.23 58.37 50.6 100
10 2 65.6 67.6 130

1. Assume that the market prnc@)whcﬁ is the amount of output that firm should produce To

maximize its profit? Véha’r Pgonomir* prgm %ﬂﬂ%m\;@qhé@ at this ?\?\T{;{u; leg;el" \ S QZ
< 0 i @{3’5\‘

& Wa: ;\&, camam,

2. If market price decrease to 40, is the firm still produce or shut down?g Explain. What econornic profit
or loss will the firm realize at this price?

Pe ATC <495
P e N B SShaoten
Cordmie loss=> L.C Z> QF(- E‘LES

e wo 'E
Jecotse” V& e

2

3. In the table below, complete the shoit run supply schedule for the firm and indicate the profit or loss
incurred at each output.

Price Quantity supplied, Profit (+) or loss (-)
66 'i':r;?%le = =QLP- ATyS{: Tt 5 = 05-9
52 & 26(SL-5) = )T
50 & = S5 H#.6) -
40 O ) YC - o
L 32 £ [ess £C. — 7},_-, 4
o 0, % N

p\\], mx;/



